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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.
D C B A Questions / = 1ts A
5 5 5 5 Junsud 3x? +5x—2={}.—.~.hL-[3-a/l b
3 3 3 'y If a , B are the roots of P e slaatP
3x2 +5x-2=0 , then atP is :
best —_— o2l —‘-r_,.c;T The extent :wifjjz';l‘&{?‘ll;ﬂf{ !
o, Rsiioi M;)de iriagos of variation between two extreme
' & g observations of a data set is measured by :
Lff/(g’;_{unc_.ucur‘;JU"JJéd-f:‘).{i 3
0 0 0 0 Out of e bseemsilS K8,/ 27530° o0
- it 4y % two cqaé%@m arcs of a circle, if one arc
make a cefitral angle of 30°, then the other
arc will subtend the central angle of :
T =3
i ” o N :c.t‘LLp(JJGKJf/LU'IE’EJ{LLJH 4
u’L" S /1" ;_,"[u '?'\E\'\ b2 i 5 g
T . . — "~ The distance of any point of the circle to
angent Chord Diameter Bﬂ.\aﬁxg\ts_’,-_j - ‘s centre i-callod :
-,ff’,\;vhj e o FE5x% =15x 5
(0,3) {(15) (53 ko) y 2
A\ PV Solution set of Sx“=15x is:
AN —p= —cosec 45° = :
2 Jj- ‘JZ_ { tgﬁ;‘s‘ " I‘J:},_ 2
% = = ; 5 .
n 7 = T .;_dmlﬁud__:f;ds/;:ifrb“.__ﬁ 1
2 3 4 6 The measure of the external angle of a
regular octagon is :
w™ o @) w* w=: :
a_% a_y b_x fd g It :.:;.-_.:'..,w—;dg;ﬂa:b=x:yﬁ !
b y b «x a y a . x a: b =x .y, then invertendo property is :
Ut ax? +bhx+e =0 il (Fass 10
4 2 3 l The number of terms in a standard : :..'..:LLJJ
quadratic equation ax® +bhx+c¢ =0 is:
A B ¢ {!ﬁ} {‘:‘_ij_'_f.ﬁﬁB; A';B.rl Il
If AcB ,then A B isequalto:
Sy P S 73 o R PRI o 12
Centre Diameter Radius Chord A circle has only one ---- :
/._‘.,Qlj /-:f'?l-',':; _-;_,L‘L." R 2x +1 14 s 2x+1 13
Proper fraction | Improper fraction | An identity Equation (x+1)(x—1) ‘ T (x+D(x-1)
k 2 : . 2 14
I it = il u=~; i = kv If uocv” | then : Juov: i
s dE¥ Ikl Je | | _ 15
Domain Universal Singleton Empty {¢} is-——--set: edr - {g)}
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12 2. Write short answers to any SIX (6) questions : : ?_0' A2 /ﬂ L =iy (6){:'_.(;:( 2
(i) What is meant by radical equation? fe e cila$iie ()
X x+1

(ii) Write the quadratic equation in standard form : — +—=6 :éﬁ,ﬂf@ﬁw&up (ii)
X+ x

(iii) Solve by factorization : x*—x=20=0 : ES YA 2 Gid)
(iv) Find the discriminant of the given quadratic equation :  : byl 5 betieGnn Giv)
16x% - 24x+9=0
(v) Evaluate : ' R e r el ad (v)
(vi) Write the quadratic equation having following roots : : &_’ﬁ.:.fbl.—ﬁ&.rmdhuj st it (vi)
k5

I k G Tf;g, 2 R=8.4 R T2 /1 (vii)

(vii) If Rc7? and R=8 when T =3, find k O\

A /'\,;,/
(viii) Define ratio and give one example.

o :\ﬁ;“ I‘\.. i -ﬁ)dﬂ';ﬂéﬁ /;" L; e’ (viii)
(ix) Find a third proportion to : A ﬁrj’h‘i‘) ” - i—f.’;r:f*‘h,«b-”t A~ (ix)

12 3. Write short answers to any SIX (6) qnegﬁqﬁf : : of ez A2 L ey (6){:.{!:( 3

(i) What is meant by an identity? ’\\’“, Tl el )

RNV 6x*
s &de S (i)

(ii) Convert into proper fractip‘tgf-f'}i‘.j:‘} 3
AR x+l
“\;‘1 ‘- -éd-it“-*-:’(ff"fA— B }Uﬂ..'..-:uB s A )’f (iii)
(1) If 4 and B are two sets, then represent 4 - B in set builder notation.
Gv) If Y=2",T=0",thenfind Y UT & YUT IT=0" ¥ =2* i (iv)

B NTE NS Y XX FY ={d e} X ={ab,c} JI ()
(v) Find number of elements in ¥ x X . if X ={ab.c} and Y ={d e)

B={c,d} «A={a,b} iz AxB (vi)
(vi) Find AxB if A={a,b}, B={¢,d}

(vii) Define median. A8 e Gid)
b AL L 24,8 <l Y (i)

(viii) Using logarithmic formula, find the geometric mean of 2, 4, 8

(ix) Find range : 11500, 12400, 15000, 14500, 14800 Z s (ix)
12 4. Write short answers to any SIX (6) questions : : 23—.:4!3/‘* L ey (6){4':_61( 4
(i) Define coterminal angles. -é...ég,;dlgsi} kA (i)
(ii) Convert —225° to radian. S Lgis 2250 (i)
(ii) Find r , when @=175°, ¢=52¢m. (=52em « O=75° Lz o (i)
(iv) Show that : secd —cosé = tan@sin & P&t (iv)
(v) Define exterior of a circle. B0l )

(Z13us)



(2)

4. (vi) Define circumference. (/H/Lr%kl’y G (i) 4
(vii) Define cyclic quadrilateral. _:i'..e;"'&f.-;._&”:v (vii)

s 4 ks e B A LB Lty i s 5 (viii)
(viii) Draw a circle of radius 4 cm passing through points A and B, 5 cm apart.

(ix) Define escribed circle. -é_éﬁJa}l:gf@ (ix)
(PART -1 #51.0)

Note : Attempt THREE questions in all. -9 ZJiro? - Bepizl ciirl f 10
But question No.9 is Compulsory.

4 -2-{;}’6/(}:“4;&;:2-31'—4=0 bl (D) 5
5. (a) Solve the equation x°>-3x—-4=0 by completing square.
4 (b) Prove that : D ek (L)
ot y3 +2° =3xyz=(x+y+z)(x+wy+ wzz}(x+ wzy +wz)
4 m=1TP Sl J AR MYSP b e S O) 6
n+p m-3n m-5p
6. (a) Using theorem of componendo-dividendo , find the valge of
ANA)
m+5n & m+35p i me= 10np
m-5n m-=5p n+p g
4 (b) Resolve into partial fractions : - H%%\%Z | 5‘ J:.y Wiy (<)
(EFBN(x? +4)
: B={2,3,57}«A=£ 246,810} U={1,2,3,4,-—,10} /1 () 7
.". <~:\\‘/

T,

& \ (AUBY =A'NB' ZE=it?
L P
7. () ¥ U={1,234:5910}.A4=(2,4,6,8,10}, B={2,3,57]

Tt \\: ’ ’ f
then verify ({&}\J;B) =A'NB

4 (b) Find mean : 2oLl (&)
Classes 33-40 |41-50 |51-60 |61-70 [71-75
No. of students 28 N 12 9 5

-ﬁ}‘)}"‘b::‘z JJGJE#JLFHJC&M_/J:}LJ&IF'O wsli sl CU55=_TZ A ) 8

4 8. (a) If c059=%2 and terminal arm of the angle @ is in quadrant III. Find

the values of remaining trigonometric functions.
UAANE 3 62 AAUPUS CA 19 BC « AB L L1 B4t ¥AABC (L)

4 (b) Inscribe a circle in a triangle ABC with sides :
|AB|=6cm , |BC|=3cm , |CA|=4cm
8 _ﬁ;.t'ﬂuf,;.;slzi.-ﬁﬂbi_fu_&‘:’“J(ﬂJﬁﬁ );J{}jc'...}r'/id_//fiféﬁf:& 9

9. Prove that a straight line drawn from the centre of a circle to bisect a chord ( which is
not a diameter ) is perpendicular to the chord.

L
-.i;.’:'.rﬂifua.:sib:‘;z_n/ﬁ/pr;;ﬁ"&lLﬁ.alﬁ?,::l}d}r/Uljf’._..;..u,c"““;j; uﬂg__f'uf‘f.’é.:cl"
Prove that the measure of a central angle of a minor arc of a circle, is double that
of angle subtended by corresponding major arc.
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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.
D C B A Questions / =iy A
1 = l mz i) w-mz = ]']
i Lo Ll By e _-,.ijf-fdlfic_h—:;%hlf’ L UiEx ,:'."‘Lf, :
. = Sum of the deviations of the b
Different Same One Zero variable x from its mean is always : i
Wl e Fr- A LU U Fs S e sl 3
75° 45° 60° 30° The length of a chord and Kot wetli$S
the radial segment of a circle are congruent;
the central angle made by the chord will be :
A(ON e bl S s | ¢
360° 270° 180° 90° S e P S i
A ¢'é11:i’1\9‘leié circle is divided into :
Ao 5
: 61 Th t et FH5x? =30x bl
(5,2) (3,2) (2,3) (0,612002° *“fuwz S
.1 () | solution set of equation 5x"=30x is: | °
1-tan® @ 1+cos” @ 1+tan® n,;.gf’f;*}'ﬁ\i 4 sec’ @ =--—-—--: 6
~\ON Lot bW SHELoinl S]]
] 4 2 Q™ ¢ How many common tangents can be i
| AN drawn for two touching circles :
4 7 ‘wv 4 { u.rruju.f. Tx2 —x+4= Oc.i:L—-Braﬁ $
= 4 7 — If @, P are the roots of P e slzaf ¥
7x? —x+4=0 then af is :
= 'IJU;‘."'.!J [j;&: JJ; .:‘:_':'lk{y{,ﬁxiyc*.{j §
Ratio Consequent Antecedent Relation In aratiox :y ,y iscalled :
10
The @ s f¥ax’-16=0=bl-
(2] (£2) {4} (£4} il )
solution set of equation 4x“—16 =0 is:
JB={3,58}sAa={2,3,5} |1
{2,3) {3.,8} {5.8} {3,5) IfA={2,3,5)and :ANnB=——-
B={3,58} thendnB=-——:
: . i B ] b
Uifu’,{ﬂo/ 5L L b F1-104 :'?—Ub/-—--’(’-/"u’uk"-.r' 12
No point at all Single point Twao points Three points A tangent line intersects the circle at ---:
iy i | Aemnd e el I
A aritit : A proper Ani . (x+D(x=1) : (x+1)(x=1)
An identity An equation g by e
xv2=] xuzzk x:krz :c=v2 [fxacvz,lhen: :?xocvzxﬁ i
(9 (g.(a)} | (a) ¢ b aferds | B

Power set of an empty set is :
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(PART -1 st.»)

12 2. Write short answers to any SIX (6) questions : - é@ﬁhﬂ/ﬂ LUy (6){;{1:( 2
(i) Define radical equation. _é_y/"’.gf:.ful..ndﬁy ()
(ii) Solve by factorization : 3y? =y* -5y  ZESEA 2 Gi)

(iii) Write in standard form : ! 3 + ——L&- =3 :éu:ugdafbff-&mf (iii)

x+ x- =

(iv) Find the discriminant of : 4x2 ~Tx =2 s 2l 57 ()

(v) Evaluate : o + 0% -5 e ed (V)
(vi) Write the quadratic equation having following roots : ¢ &isle@undinsatits (vi)

-1,-7
(vii) Define direct variation. -éJ;J—-«'U} (vii)
_éf,';]"'...—z'J k J’ﬁz.ﬁ'?'l 'L* Y2 W= 5 »l we— /’ (viii)
(viii) If wec —1— and w=5when z=7 find k ',\2"\\_/_\,‘(‘?)
2 AN o

(ix) Find a mean proportional between : ,~§;>,\‘i5 : ”_.:'f(:h“ —Iidks (ix)

12 3. Write short answers to any SIX (6) que;t‘i\c ns . o =2 /# L =iy (6){;41[ 3

(i) Define improper fraction. < o \'/@‘J _2}: s/ f'" J / — ,_,-" (D
{EQ%JB sl A 2 i ¥ i NG
o (x+a)(x—a) x+a x-a
@it —* - ATE L hgamdn
(x+a)(x-a) x+a x-a
(iii) If 4=N and B=W , find 4- B Ep A-BIB=W mA=N Ji (i)

ek XU BX Y Y ={d,e} » X ={ab,c} I (Giv)
(iv) If X ={a,b,c} and ¥ ={d,e} . find X NY and X U¥

b (E LM <L IM={3,4} sL={a,bc}/l (v)
(v) f L={a,b,c} and M={3,4} . then find a binary relation of M x L,

(vi) Define subset and give an example. _&:Jiﬁ-hﬁxslé_gfgk{&} (vi)
(vii) Define range. Hé_g/‘.’-d/:.-ﬁ' (vii)
(viii) Write two properties of arithmetic mean. -.‘.ﬂ_ﬁa.l_.cr‘i:JJL»:lQL-’ (viii)
(ix) Find harmonic mean of data : 12,5, 8,4 ZE bl ETAG (%)
12 4. Write short answers to any SIX (6) questions : : é@kl.ﬂjﬁ Z =iy (6){;—6.{ 4
(i) Define an angle. E‘i_-..i-',’.'.p(,sl} (i)
(ii) Convert % radian into degree. £Jy LSS —rad (ii)
(iii) Find*6°,when £=2.5m , r=4.5m. r=45m « £=2.5m .,cS.{_"r,Lv ¢’ (i)
sin? x.cot® x éﬁd‘ﬁ&gf-@ﬁ/ﬁ’fﬁ (iv)
(iv) Simplify each expression to a single trigonometric function sin? x.cot® x

(2‘1'&;3 )



(2)

4. (v) Define projection. L Hﬂ"“l "’”2-«9 -é_.éi j". J JJ’ (v) -4
(vi) Define collinear points. _é‘..y,?‘."g;w}hi(? (vi)
(vii) Define cyclic quadrilateral. 2yl e & (vid)
(viii) Define perimeter. oy P b (viid)

(ix) The length of the side of a ?.;_,gfiunwuu_{._(4éy‘fé*£u}f”_g (ix)

regular pentagon is 4 cm. What is its perimeter?
(PART 11 (1.2 )

Note : Attempt THREE questions in all. .q..dJU 9 ,?Jrrg?_é.-.-.y.ez.@wruf.f Y
But question No.9 is Compulsory.

4 5. (a) Solve the equation 2x* =9x% -4 s S (O) 5
2 2
4 -g’r,w;.zJ%+i Junul 4x? -Sx+6=0 enaBead (L)
o
(b) If a,B are the roots of the equation 4x* — 5x + 6 = 0 then find the
B2
value 0f~—~ + —
B a A\
A0\
4 6. (a) Find x in the proportion : ﬁ\a\“f""é.(:h" :«:’,J x et (0) 6
*»-3 5§ x,___-qql} (f?ﬁ)
x= *"’{\ L x+4
4 (b) Resolve into partial fractions : L\‘}x_” 2 T L7 (L)
,«0}}/ x+3)(x*+1)
4 -{14710};\A<é~{13579] «U=4{1,2,3,4, 10} /1 (D) 7
\\J‘\/ -
m“::‘; A-B=ANB ZLoity

7. (@) W U=1{1, 2@#}---- 103, A={1,3,57,9}, B={1,4,7,10)}
then verify A-B=AnEB
4 :i{#qﬁ:@di&;:;ﬁ}n:fwbdfpﬁU:J"...r’lbaj: (1—-)

(b) The marks of six students in Mathematics are as follows. Determine variance.

Student b |1 [ 2 [ 314 [5]6
Marks 3,7 60 | 70 | 30 [ 90 | 80 | 42

-ér:b’u.:ngecﬁ s cot@ ¢ tan@ <« sin@ ¥ cos@>0 x4 cosecﬂ:% A0 3
4 8. (a) If cosec =% and cos@ >0, find the values of sin®, tan@, cotdand secd .
4 Gl PERIILES s (a3 SIS s a1 i206 L1 (L)

(b) Circumscribe a circle with regard to a right angle triangle with sides
3em, 4 cmand S cm.

8 Bl Ayt S primle i St 9
9. Prove that two chords of a circle which are equidistant from the centre, are congruent.
OR L

Prove that the opposite -;_,E.F_.mi__pf}d/"‘f.i'resu_!'l‘&} «.f_'J)’f_,d:}l:J/._}l;Jrfé‘ff:.:{f'
angles of any quadrilateral inscribed in a circle are supplementary.
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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question. .
D C B A Questions / =ii» w7
* fony Xy w The eW—AFUBZUmxiyuviw -l
vy . v X fourth proportional wof x:y:v:iwis :
i) =5y e av$s) F | Adatain the :f.,r!lf:_iru‘iuﬁ;dif‘:jdrﬂ 2
Grouped data | Histogram Range Un%rﬁgpm form of frequency distribution is called :
Ufjif‘_-;!-hﬁ,;‘l.{L)k/lr-‘g!bfbuslfju:q..jh_gf 3
o o . . The length of a chord Erasi$ S,
75 60 45 30 and the radial segment of a circle are
congruent, the central angle made by
the chord will be :
A __'J‘ ..'I = g 7 - - o’
Je ¥4 ) L \\- S et ab?&’/‘!é'{u” :
i - Th;(a&g}a how many non-collinear points
Four Three Two One _ (o dar a circle pass :
__(-\_ “\ .;- + -
4 7 A :,@\_) Juns Ll ?.1'2 -x+4= OQIJL—‘[}*‘(}L" ! 5
— — — P b-” If @, P are the roots of D esizap
do -~ 7x° —x+4=0 then af is :
3600 630 360° GV 12000 20°=———: 6
7 JV ._ :?}\ 4 :::'_':Ik-(hfif;.fb 7
Chord Tangent --éé;g&néni Boundary The circumference of a circle is called :
- 1 1 1 1|8
afl aff a f a a  f a p
A 2 ik i ds a Lazbiicid F 9
o oA g R :
Third ; . ) Ina proportiona:b:c¢c:d,aandd
; Extremes | Fourth proportional Means
proportional are called :
2 _ 2: 2+ + o= bx+€=0, 10
ax” =0,a=Q o s B St :a.fg,b_w&:,ht_-d.;m
a#0 a#0 b#0 Standard form of quadratic equation is :
& B 1g = = s e tnitbhe lSi beado | 1)
Place Origin Ratio Value Mean is affected by change in ---- :
J}l? k?‘f: Ijji;‘/:a J’f .g&?;—,ﬂ'--quﬂu‘iTJuig{u!/dr—ﬁL.‘_;U |2
. ) Tangents drawn at the ends of diameter
Parallel Collinear Non parallel Perpendicular | of a circle are --- to each other -
. 3
{ ¢.1a}} {a) { P} @ Z?f’ﬂ;—f_’;lkfﬁ.—fdb 13
Power set of an empty set is :
rood Wi ondl L F 2560 A S| 14
ol ¢ i B : B
- =V =il /rh.-"-" A fraction in which the .l;.dlkr ¥l
ﬁ_p t‘pc Identity Equation Proper fraction | degree of the numerator is greater or equal
uesn to the degree of denominator is called :
i ¢ B A etnpzA N BinacB /1| P

If AcB then AN Bisequalto:

273-023-1-(Objective Type)- 29500 (7195)
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(PART -1 Jst.2 )
12 2. Write short answers to any SIX (6) questions : . e ez A L ey (6){4-_.6:" 2

(1) Define quadratic equation. 2y Pl eblaBas (@)
(i) Write in standard form : %4 S IR S (i)
xX= X

1Y 9
Gii) Solve : [Zx -5] -2 2 Gi)
(iv) Find discriminant : 2x% - Tx+1=0 é‘r}"m—’?};’ (iv)
(v) Evaluate : (1 —w-a?) :ﬁ:ﬂ"‘:é (v)

324 Tx-11=0 1 Zp AL en a6 0L e (Vi)
(vi) Without solving, find the sum and the product of the roots of equatlon : 3P+ Tx-11=0
rfr'ﬂ”a :’u;\?{,flfii S nta+3:7+a fi (vii)

t\l

(vil) Find a,iftheratios a+3:7+a and 4:5 are equal,
N\
% b=8 ﬁéf}wﬁvf_b 4 o2 a=3 J,uaocbiz (viii)

/ J \ - J_,f

(viii) accb% and a=3 when b= 4ﬁndaud1¢rfb 8

." ‘|

(ix) Find the third proportional to RS , )‘/ c:ts,?nr.'2 ..é r':""‘ 2 (ix)
12 3. Write short answers to sz:%l‘x (6) questions : : oL =iz A L =y (6){4{31( 3
(1) Define a rational fractmn oy g )
(i) Convert the following improper fraction id; WA _,ﬂehi/ S F s (i)
into proper fraction :
6% +5x% -6
2x? —x-1

_ér# AUB $B={358} « A={2,3,57} 1 (i
(i) If A={2,3,5,7} , B={3,5,8} thenfind AUB

2 bhlndl yxyIny={-2,1,2}.01 (v)
(iv) If y={-2,1,2} then make two binary relations for y x y.

(v) Finda and b,if (a—4,b-2)=(2,1) (a-4,b-2)=,1) Ji&e# bsia )
(vi) Define a subset and give one example. e Ly /“J..:.{CG? (vi)
(vii) Define standard deviation. L PSS A A (Vi)

-y JU!‘JGL‘J?:..{UJ}-&}'#‘B’JIJJ:GI#’ 2,4,8 =is (viid)

(viii) Find the geometric mean of the observations 2, 4, 8 by using basic formula.

(ix) Write two properties of arithmetic mean. S Feler® e by (%)
12 4. Write short answers to any SIX (6) questions : : o ICYRY ALy (6}{(_{19( 4
(i) Define coterminal angles. By oA @)

(i1) Convert Ef— into degrees. -E{.’-fdé‘ Lﬂdf 78 3%: (i1)



L HE-1=23

(2)
4. (iii) Findrwhen {=52cm,0=45" x0=45",f=52cm ....-925(11"’..:‘5&’1‘ (iii) -4

(iv) Prove that : (1-sin@)(1+sinf) =cos’ @ fé:.at‘ (iv)

(v) Define obtuse angle. E s (V)
(vi)" Define the length of the tangent. Ay JJHJJ W (v
(vii) Define circumference of a circle.- oyl 2 (vid)
(viii) Define an arc of a circle. -é ey Suibeit  (viil)

(ix) Divide an arc of any length into W, (-Tﬁ Fur send s ..L:IJJLJJ( (ix)

two equal parts.

(PART -l #52)

Note : Attempt THREE questions in all. +JJU 9 /r; dl:-'c)'g .éaglﬁﬁmﬂifgf J{ 'y
But question No.9 is Compulsory.

4 5. (a) Solve the equation : 2x* ~11x% +5=0 cogZFf fene (D) 5
4 (b) Prove that : L=y =(x-y)(x- roy){x<pj et (L)
4 6. (a) Find x in the proportion : “;?\‘* i}‘:‘”’ addx Lt (D) 6
2
P+ pa+al xS DL gy
\\{‘\, p g
~Fo>
= (b) Resolve into partial fract'gtn&\_?.’ = _23I+1 Z-.’J:b’ Sz (L)
Nﬁ; (x=1)"(x-2)
4 B={1,4, Qw},,m £1,3,5,7,93U={1,2,3,4,——10} J1 (D) .7

A-B=AnB SEew 7
7. (@) IfU={1,23,4,----- 10} ,A={1,3,5,7.9}and B={1.4,7,10}
then verify A-B=A4nB

4 10, 8,9,7,5,12,8,6,8,2 : ZEr= Py ()
(b) Calculate the variance for the data : 10,8,9,7,5,12,8,6,8,2
4 8. (a) Provethat : secl —cos@ = tan@ sin @ et (D) .8
U3 3 SIS CA st BC « AB QWL 1z tniinr” SAABC (&)
4 (b) Inscribe a circle in a triangle ABC with :
|AB|=5cm , |BC|=3em , |CA|=3cm
8 ...LEL:':J;L&"‘(T@ u:f.l-’WIijba‘a:.f/ﬂ}'n:Z.d.ﬂ;bfZ::r».’:a:E" 9
Q. Prove that two chords of a circle which are equidistant from the centre, are congruent.
OR L

Prove that the opposite - I »dsli(j /-{.Jé’ 4.31;.Ll.a-£u( ?d;/i;{ff;.mu/ Iz i' o

angles of any quadrilateral inscribed in a circle are supplementary.
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(Maximum Marks : 15) PAPER CODE = 7196 15 AF
..’:.._.Jﬁ:.--::.:.u.‘.'u;.fl:iEgséi.lr-didlrﬁ.ggéf@lﬁ_b@ik,} DasCe B ¢« A:,LF:?.'-GJE.{.JFV; Ly

(L.;.;..'!;Jlbg-" f"’ Ju

—fﬂJ?‘?wulJ?HJ;iu:&J’JJLI /r:..ﬁd'_/r fu;}!,-nu;..{?,éf;:/{auégfﬂﬂjF;:nu"jﬂV
c 4 % k

Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.
D C B A Questions / =iy 7
m_,ﬁac:b::a:h=b:c..._zb:'d')/ I+l
Means Fourth Third Second In continued proportiona:b=b:c,
ac=b> bis said to be --- proportional
between a andc:
; s " 2
23k u}lifdiff S5 ksl ; ‘F’%MKJ*"’C{[”J{
Di . The spread or scatterness of observations
Mode Central tendency ispersion Average in a data set is called :
Lﬁf/f/@,ﬂw‘éfc_400~shd) |3
80° 60° 40° 20° aégsménds a central (e Lsoeee st
£40° then the currespomfmg chord
Wct ubtend a central angle of :
e L,f 2 o Of N\ ) : C-L'Jlrc_bﬁ'UL’f/é’u/h 4
- = (CrY Through how many non-collinear points,
Four Three Two Ofe.—~ can a circle pass :
a'xl +hx+e= 0‘ axz | bx" ( r ‘Qi(}c 0 LLFL;JL"‘J '.'QL"L;.-‘”J 5
=0,a= 0 o
a=0 a#0 ~\¢ NP %0 Standard form of quadratic equation is :
cosd ac? a2 2 + — = e
e | I8 el 1+sind  1_sind
~/ "é IPEJNJPZLU!;:TJL.HL//!J 7
4 3 2 1 H-aw many common tangents can be
drawn for two touching circles :
u=vk u=wk u = vk’ u=wk> Tf—=——f( then : Jnt=Y =k Ji 8
vV _w vV w
B0 F-7 [t x¥y | 4N ab | esddwirab=xip |’
i Y b ¥ 2 7 Eity a:b=x:y ,then alternendo property is :
i . 10
S 2 l-_l mj—wz . lgw,'_(ﬂz Ea 1 e .w.fﬁll-?ﬁ ok 1
Lo Cube roots of — 1 are :
£ e\ IE = =d e bl i SR bl [ 1]
Place Origin Ratio Value Mean is affected by change in - :
Ul o Y i =LY L e Bheleinfi | 12
o Two tangents drawn to a circle [ fd-#——
Iriple Double Equal Half from a point outside it are of---- in length :
e oSl erm L {1,2,3} |13
9 8 6 4 The number of elements in power set of
£1,2,3 1} is :
; S 3 3 3 14
At [ e | e | g | P Pa
Anf ImpeopCr A constant term | Anidentity | A proper fraction | (x—1)(x+ 2) l T (x-D(x+2)
raction
v 11 Il I 4 et (—1,4) 5| 15
Point (— 1, 4 ) lies in the quadrant :

274-023-11-(Objective Type)- 24500 (7196)
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(PART -1 Jsi2 )
12 2. Write short answers to any SIX (6) questions : : 24 ez A L sy (6){:43)'/ 2

(1) Solve by factorization : X2 -11x=152 s S8 ()
(i1) Solve the equation using quadratic formula - TLfJ' = gy b Gmsf el (i)
6x* -3-Tx=0
(iii) Define radical equation. -é - J_-A;La-d;j_o (111)
(iv) Find the discriminant of the given quadratic equation: ~ : ZZ, r:""‘u:ﬂ/ I etsba Gy (iv)
- : 9x> ~30x+25=0
(v) Write the quadratic equation having roots : -2.,3 :’&f.:..bt.-»dnudhu:’u (v)

(x? + 7x = 1)=(x+1) gé{yaLJ}jﬁg}ibLﬂL)’db}lfgﬁJ’; (vi)

(vi) Use synthetic division to find the quotient and the remainder when {Jr:2 + Tx=1)+(x+1)

(viil) Find a third proportional to : a® -3a* ,:‘j, e _BLE (Vid)
(vii)) Define proportion. ) \}‘ Sl (viiD)
QoS
(ix) Find the fourth proportional to : 8,7,6 f;«»\ N S) & BBy (iX)

12 3. Write short answers to any SIX (6) qucslionx : & apz L iy (6){4—_—6; 3
(i) Convert the improper fraction into proﬁ@r:ﬁ‘actmn : ér: Sk ad Sl ()

(\'},j’ 6x° +5x% -
M‘Q\j‘f 2x% —x—1

(i1) Define improper fraction’~ 1 EEa IS d G
N et 2if A-BIB=W » =N Ji (i}

(i11) If A=N and B=W, then find the value of 4- B
P Y- X T ={4802==24) ' X ={2,4,6,-~—-20) 1 (iv)

(iv) If X ={2,4,6,-—~~,20} and ¥ ={4,8,12,——,24) /then find ¥ - X

(V) If A={0,2,4)} thenfind AxA e AxATA=(0,2,4}1 (v

'éf’b’i?f’iljbt”g; LxM ;ﬂMz{d,e,f,g} ..-JIL'——{a,b,c}/"l (vi)
(vi) If L={a,b,c) and M= {d,e f, g}, then find two binary relations in L x M

(vii) Define mode. Sy 0k (vid)

12, 14, 17,20, 24, 29, 35, 45 ,zfr}vwdu‘—_.»)...fw/ (viii)
(viil) Find the arithmetic mean by direct method 12, 14, 17, 20, 24, 29, 35, 45

(ix) For the following data, find the harmonic mean : Lo lwl_E}lr’féﬂlrJ_i._nﬂ (1x)
(X [12]5 [8 [4 ]

12 4. Write short answers to any SIX (6) questions : : ¥ Mz & L iy (6){&(3:( 4

(i) How many minutes are'in two right angles? ot E UGy ()
(i) Find ‘r°, when £=52em , 9=45° 0=45° £ =52em Lo =i (D)

(EJ.JJJJ )



@ (P23

4. (iii) Convert 225° into radian. ety (i) -4
(iv) Verify that : S:z:: +cosf =secl s 2t (iv)
(v)" Define zero dimension. EmpfedF (V)
(vi) Define tangent to a circle. Bl owleds (vi)
(vii) Define circumference of a circle. el i (viD)
(viii) Define perimeter. Sy S (viid)
(ix) The length of the side of a ?;._bﬁbbib’JL;fSJHJééf.ujrp_{! (ix)

regular pentagon is 5 cm. What is its perimeter?
(PART -II FJL-‘} )

Note : Attempt THREE questionsinall.  -¢-$119 Aot eeyel cirf S 1o
But question No.9 is Compulsory.
4 5. (a) Solve the equation using quadratic formula : : £ el irbGmmdans () 5
x+2 4-x ]

” o
x-1 2x 3
4 (b) Provethat : ?:w s S (O
x? +y +2z° -3xyz= (x+y+z){x+my+afz\r(x+m y+wz)
4 ¥ §= 6pq f!éf#’.,.dbfs 3P Sfﬁ*“‘ﬁ“z_ Sl e (D) 6
P—q s+3 p J-—ﬁq
6. (a) Using theorem of componendo;ﬂwﬁ’endo find the value of
5= 3p+ s+3q }E&# 6pq
s+3p  s-3g3  p-q
f_"\‘::: /\" 3 2 -
4 (b) Resolve into partial fractions : ﬁx;—s.x'z é.,k? SalSz (L)
~ 3x”—2x =1
4 B={1,4,710 sA={1,3,5791U={1,23,4-10} .1 (9) .7

(B-A) =B'UASZE k]
7. (@ WU={1,2234" =310 WL A={143 507,92 and B={1,4,7,10},
then prove that (B— A4)' =B 4
4 (b) Find the standard deviation "S" : (e 'S LA A (&)
9,3,8,809,8,9,18

4 8. (a) Verify the identity : sin@=sind-sinfcos?d  : Sl (D) 8
4 H 17D RIS, o SN L e bt FABC et ol (&)
(b) Inscribe a circle in a equilateral triangle ABC with each side of length 5 cm.
8 -:.CUJEJ«’W!U:L-*a:..?//u;u:fjl}"‘;:uf.c_;bflfé&:f 9
0. Prove that if two chords of a circle are congruent then they will be equidistant from
the centre.

OR k
.,A'_.t‘.-fL;GJ;.A_. :I'ufféia/J;"jhv‘[E,lbﬂﬁﬁysljd}rfuls'd';cduﬁ‘uf;gﬂ:_;lEJ(JZ:{...-—':‘
Prove that the measure of a centraf angle of a minor arc of a circle is double that
of the angle subtended by the gnrrespondmg major arc.

274-023-11-(Essay Type)-98000
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(Maximtum Marks : 15) PAPER CODE = 7197 15 A4S
Lvift&-".ﬂ&-;ﬂUJ;'JZ’L_-J&Vﬁdffﬂ.‘{érdfﬁvﬂi&:-J DsC+ B ¢ A:—yiﬁ.:ﬁz‘gédlr‘ﬁ 2y
o bii_.ub?uf S SO0 g/, {f ...*-FEJ...J( .;.!( UsAmie L1y X c.a;,ﬁl;ﬁl!ﬁfbih"& b

Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.
D C B A Questions / =i -4
v I I I g bt OA—1,4) 45| H
Point (— 1, 4 ) lies in the quadrant :
l;(;_,f s Y U LBULJHJUééJ;.ﬂ&J_&I.L;h.Q 2
; 7 Two tangents drawn to a circle (< s——
Triple Double Equal Half from a point outside it are of-—-- in length :
Sk 27 |15 ol -4 et e i S bl |3
Scale Rate Value Place Mean is affected by change in ---- :
5 ; L{_..fn_ﬂ..;_.&.l’_ﬂ ot JWEe /s | 4
: 7 \of s
fdi/ . ”::_ I Ug;;t FL;JL]T] The tangent and radius of  : fd e
. Speiicnse | pecpcadicot N a circle atthe point of contact are -—- :
P . 7 D)
t 08 (. F ST ettlyuixiyed |
Proportion Consequent Antecedent Rela:ion ; -.;I{l«'ﬂ'fatlo X:Yy,y iscalled :
S (Sl 26 -‘--.‘."J? _,-Lpp/g : .::.t'IJ»({xIxEWAxS 101} |6
Finite set Null set Subset Infinite set’ | The set {x|xeW Ax<101} is :
.. DY : 2 (e 3 . 17
J L 71 L s <o)~ )’:" '{—:m('l‘b{-g;/ L:.Jfb/é:.‘.' J(,‘C‘-fb
L o i Radius ~ {;\u‘fDiameter The distance of any point of the circle to
LN its centre is called :
) @? Ce butaska:b=b:c _..f-b?J'y B
Y4 T4 \“‘f _-- L'Lb-‘ In continued : q_t'l,lﬁ/ —t
Extremes Fourth Third Means proportion @ : b = b : ¢ , ¢ is said to be
---- proportional to aand b :
Ko ettt 3660° ¢ 2Ll a g | 7
4 3 4 1 A 4 cm long chord | L By 1Y
subtends a central angle of 60°. The
radial segment of this circle is :
10
bz AVUB JusarS 7 4 BaiAS
BuwA ¢ B A If Aand B are disjoint sets, then A U B
is equal to :
L}? ‘ol J:? iy Jb!,j 3";/’ Roots . u:-’g}jué 4}.’2—4I+1=0@|JL" I
Real, unequal Real, equal [rrational [magmarx "] of the equation 4x? —4x+1=0 are :
.| -
y y* x?y? »2 e Ky? sl x? 12
£ x* x_-z': The third proportional of x% " and y?is :
R F s Ny 4 {;r'i..,.ﬁfb'_ﬂfl 13
e S o By Wi FET LT A geviation'® dgfinedas o8- O/
Product Sum Histogram Constant difference of any iable
froma :
R ~1,~o+0? ~l,w,-w* o Cube roots of — 1 are : :g,g__,.ﬂu:«_w!.— 1"
1 1 15
cos@ 2 2 2 + =——-
2cos” @ sec” @ 2sec” @ Yarsind 1o
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(PART -1 Jsl» )

12 2. Write short answers to any SIX (6) questions : v o s =42 AL =iy (ﬁ)qc_(jf 2

(i) Write the quadratic equation in standard form : ol 2P SA Ao etslaGonns (D)
. (x+7)(x=3)=-7

(ii) Solve the equation by quadratic formula : 2-x* =7x ZE S ety L=l Gsss (i)

(iii) Define quadratic equation. ZEy P amaGuns  (id)
(iv) Write the quadratic equation from givenroots : 0,—3 dg._ahlpw(jm:a.uj s Gv)
(v) Evaluate : (1-o-a?) ZEeed (V)
(vi) Find o® if o= :.L%E o=—" 1+J3 flﬁ:{‘:"’ w®  (vi)
ek xiy _ﬂwm 3(4x sy)=2x-7y St (vii)
(vii) If 3(4x-5y)=2x-7y ,find theratio x:y = \ 2)

(vii1) Find a mean proportional between : 2'3@ 43\ & &5 (> ,.wt‘ﬂu:!k»s (viii)
. f‘“\ Ju - &
(ix) Define ratio. \ﬂ N o ey (0
12 3. Write short answers to any SIX (6) g;! gions : : & Az A L ey (15)4'«::.4;.1r P

(i) Define proper fraction and gwe oné\ezgample ZaJeLimzty 8 (D
(ii) Resolve into partial fract:::ps QP le 1 2&}"’5 S Sz (i)

g YUX InY=(2,4,59} » X ={1,4,7.9} 1 Gib)
(i) If X ={1,4,7,9} and Y= {2,4,5,9}, thenfind Y UX

.,ér}v'AxBfB——{—l,ZS}:A={0,2,4}fl (iv)
(iv) If A={0,2,4},B={ -1,3 }thenfind AxB.

(v) Define an One-one function. -.’:fi'._éJ /""d’ JU e (V)
(vi) Write all the subsets of {a, b} layF 0l {a, b} er (V)
(vii) Define geometric mean. -ﬁ-f_é}be:lo‘J;EI (vii)

12, 14, 17,20, 24,29, 35,45 :&fpdpndotrd e (viiD
(viii) Find arithmetic mean for the set of data : 12, 14, 17, 20, 24, 29, 35, 45

(ix) Find the range of the data : 11500, 12400, 15000, 14500, 14800 L oGy (ix)
12 4. Write short answers to any SIX (6) questions : . o A2 /# L =iy (6)4’;&( 4

(1) Convert 3{— into degrees. e SIS ur 37 ()
(i) Find 0, when {=2cmandr =3.5cm r=35cm =2 cm .?.".er:"’"'e (1)
(iii) Prove that : (1-sin?@) (1+tan®@) =1 Sk (i)

cpln L SNz Gv)

(iv) How many minutes are there in two right angles?



(2)
4. (v) Define acute angle. Mﬂ-é 1-33- .."é...g /’:’-Jfﬂjutp (v) -4
(vi) Define secant,

Sl (v

vl sy (vi)

(viii) Divide an arc of any length into -25(? Juﬁ4|4,;fu§4JJyf (viii)
two equal parts.

(ix) Define inscribed circle. EEy i (%)

(vii) Define circumference of a circle.

(PART I 152 )

Note : Attempt THREE questions in all. +d 9 /dfrug .é.:.&l!:)::.vmrgf JI s
But question No.9 is Compulsory.’

4 5. (a) Solve the equation : V3x+100-x=4 s F Santn (9) .5
4 a’+f e dIun sl e preq=0 ahe B o S
(b) If o, B are the roots of the equation x°+ px + g =0 , then evaluate a” + f3
4 am=lVP Sl J AR MEOP L Sheesd T e (D) 6
T n+p m=5n m—S_p
6. (a) Using the theorem of componendo-dividendo, find lhf; value of
m+5n LA 5p i m _10np (1\ij
m-5n m=5p n+p /-,\:_:/
. F >1
4 (b) Resolve into pa.rual fractions : E’;ff S Sz (L)
' : & 1(9{"” (I+1)
4 B={2,357}smA= {13,,5@\9’} U=1{1,2,3,4,5,6,7,8,9,10} J1 (D) .7
QN (AUBY =A'NB JZE ot
7. @ IfU={l, 23,45)5)739 10}, A={1,3,5,7,9}and B={2,3,5,7}
then pmvet{;ﬁumuﬂ) =AnB
4 ¥ "_’:r.J”_JLfUJLledLJLr:IJ(JLfJM (u.-r
(b) Find the mean length and standard deviation :
Length
§o | 20-22 | 23-25 [26-28 | 29-31 | 32-34
Frequency
sty 3 6 12 9 2
4 8. (a) Prove that : 1+an9— I*ang = 4tan@ secd zfet (D) 8
1-sin@ 1+sinf
4 A3 6P WIS CA it BC « AB LU £ 4 tasin WFAABC ()
(b) Circumscribe a circle about a triangle ABC with sides :
|AB|=6cm , |BC|=3cm , |CA|=4cm
8

_lat'/r...i;":(fluf.;}‘sgf(a_'/r/LL.;F:I?:;..:-:H‘ 9
9. Prove that perpendicular from the centre of a circle on a chord bisects it
OR L
el oo Lo 9 3 QIL NG 38T p S crff U7 bcgmaf JEE

Prove that the measure of a central angle of a minor arc of a circle, is double
that of the angle subtended by the corresponding major arc.
273-022-1-(Essay Type)-110000
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ac..._.-lﬁh'ﬁf'gjc.,u:u:;ba{E:_._-JLVLJFY,-:.;L&K@UZ-L,Eiz’T_-) DsCs B « A-.*:i,ﬁ.’;f:lg&dir,: L
K2l al et § S S S s iindie L) s A e i S A1 3

Note : Four possible answers A, B, C and D to each question are given, The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.
D C B A Questions / = yi¥ £
F.«J"‘;’ alie A A2l © +1 i ) 1 I-l
A constant An identity A“ﬁ':;':]t’,';ﬂlper Aproper fraction | (x-1)(x+2) = = (x=1)(x+2)
Uﬂc}:— LT;J Al s LLQ&JPJVE;’-#:JG—EL}},GLL;U-{' 2
g i Two tangents drawn to a circle ;1 se--
Triple Double Equal Half from a point outside it are of--—- in length :
Sk 27 10 =d £ cbriifled S bt |3
Scale Rate Value Place Mean is affected by change in ---- :
nE T e B Le S |
- ] 3 4 How man: tangents can be drawn from
a pmm ‘Qutside the circle :
- ei | &ie Pd3* +3%% 1 6=0zbl |
T S ITT) :-lsLauJG’ il e bl s eyl + + '
P ‘( \-\.\_ A
Quadratic Reciprfaca] Radical Exponentigl.., & A\n equation of the type 3% +3%F + 6=0
equation equation equation eqfuz_t_lmq A i &
D Lémm{uaﬁu:_m;a{ 1,2,3} |6
9 § 6 Jdo~ 4 The number of elements in power set of
QNS {1,2,3}is :
s » A Loy D et S e S Le Sy |1
, o RN A chord passing through the centre of a
Radius Circumference ~{ Diameter Secant circle is called -
u=vk u=wk u = vk’ u = wk? ik , then ::FKE=1=FC /rl s
v w v_ W
S Sz S S el i e iR eSS s | 9
Tt A pair of chords of a circle Lunt
Congruent Overlapping Incongruent Parallel subtending two congruent central angles is :
IV Il I _— et A -1,4) | 10
o 4 ) lies in the quadrant :
_4 -2 r —q Vo R e =lab pra
2p p D p o |Ifa pare & :a"_,ni- K 2B20un
the roots of * Py +gx +r =0, then
4 sum of the jcét 200 and 2B is :
- s a5 %o N ‘c.rﬁlf YUEX ¢y | 12
Proportion Consequent Antecedent Relation In aratiox : y y ;s called :
ek s S VD ' 13
Triangle Square Rectangle Closed figure
@0 l,~w 1,0 1,-1 14
‘E A ﬂl_ 15
2 = V2 2\!_
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(PART -1 Jsle )
12 2. Write short answers to any SIX (6) questions : : o =42 /ﬂ L elly (6){4.(;:( 2

(i) Write the quadratic equation in standard form : o S d;ol,yf sbeFsrsy (1)
Cx+4 x—2+4=0
x=-2 x
(ii) Solve the equation by quadratic formula : 4x* —14 = 3x :Z_’_-rd’:.:.ur.aliﬁ:.flslﬂ-&m: (i1)
(iii) Define radical equation. 2Ty | OS¢ 1)
(iv) Write the quadratic equation from given roots : 2l eyl e L,{JJJJ::-UJ v& o (v)
3+42,3-42
(v) Evaluate : (2+ 2w - 20%) (3- 3w + 307) .-"_rrsi"“J (v)

ér:l"...—/ylnﬂ,ﬁjiﬁluju:ﬁ?fpx +3gx—4r=0 =l (vi)
(vi) Find the sum and product of the roots of equation 2px~ &\3gx~ 4r=0

-ér:b"'ufx -.-i’d/yc ﬁér 3 -2 y=T7 s yxx /i (vii)
(vil) If yex and y=7when x=3, find ymtqmﬁofx

(viii) Find a third proportional to : | g\wézj a-b e B A (vidd)
(ix) Define inverse variation. (: )7 Ay IR
12 3. Write short answers to any\sm (6) questions : : o Az A L ey (6}{(’.&( 3
(i) What is proper fracuon? ?‘:;.Jxl_.f/ =2l (1)
(i1) Resolve into partial fractmns : i e J.:V“ S S (i)
(x+1)(x=3)

e XY InY={2,459) o X=(1,47,9) 1 (i)
(i) If X ={1,4,7,9} and Y={2,4,5,9}, then find X UY

(iv) Find a, bif (a—4,b-2)=(2,1) (a-4,b-2)=(2,]) £ZEr# b a (iv)
(v) If L={a,b,c} thenfindLxL -éi':""LxL?.vc Lm{a,b',c}/l (v)
(vi) Define subset and give an example. _ﬁ:i,ﬁdl‘?‘_ﬁul?{u?ﬁtférf (vi)
(vii) Define geometric mean. oy PSasab (vid)
(viii) Find the range of the data : 11500, 12400, 15000, 14500, 14800 :&= s =aLiy  (viii)
(ix) What is histogram? mgféﬂda’ (ix)
12 4, Write short answers to any SIX (6) questions : : 2.:-.-;!3 AL iy (6){:.(;:( 4
(1) Define radian. -é——fid/u:}y (1)
(i) Find'r’,when ¢=52cm , 8=45° _st §=45° ul £ =52em 2 =dd (i)
(iil) Prove that : % =1+tan@ St (i)

(iv)  Write the relation between degree and radian. -é.‘;/;&w S et GV)



2
4. (v) Define tangent of a circle. U(R 4 g - n_-ZJ/JJVZa/I: (v) -4

(vi) Define circum circle. EE VISl 0w (VD)
(vii) Define chord of a circle. Sl ly (vid)
(viii) Define central angle. EE ) J s (viid)

(ix) The length of each side of a -é‘r}wibl(df-d-KSJUJé‘Lfruﬁ (ix)

regular octagon is 3 cm. Measure its perimeter.

(PART -II #5.2)

Note : Attempt THREE questions in all. - .q..dJIJ 9 /‘Ufrug _éablﬁﬁc-l]lr@ J L d
But question No.9 is Compulsory.

4 5. (a) Solve the equation by completing square : : é;f;@f;}fq Jenls (D) .5
ax*+4x-a=0,a#0
4 S b-c)xt+c-a)x+(a-b)=0 b SZep ()
(b) Show that the roots of the equation (b—¢)x> +(c—a)x+(a—b)=0 are real.
4 8—x:11-x::16-x:25-x .:’fr)""...u’gfx Setln (3) 6

\__/l"
6. (a) Find x inthe proportion 8-x:11-x:16+- x_,?.\Su

~\
4 (b) Resolve into partial fractions : P%)izi? E‘EJ:'.": S8z (L)
\/\ \_;: + x

4 B={2357}sA={1, 3,5;3%5} U=(1,2,3,4,5,6,7,8,9, 10y S1 (h) .7

| Q-«,fAmB) AU B SEI S I% LS Ms5in
7. (@ IfU={l, 23&&56789 10} A={1,3,5,7,9}and B={2,3,5,7}
then verify the' De-Morgan’s law : (4nB) =AU B

4 (b) Find the standard deviation " 8" : ..:f’:})” "S" A (&)
9,3,88.09,8,9,18

4 _éfﬂ"‘:ﬁf{ 0 SFEdLF 07y sind <0 sl tanG:% Jr()) 8

8. (a) If tan@ =u;£ and sin@ <0, then find values of other trigonometric

functions at @
4 bl R S e 3UpISn L e /226 L ()
(b) Circumscribe a circle with regard to a right angle triangle with sides
3cm, 4 cmand 5 cm.
8 -.c..'."m:f,gnfh:u#’m:d...f...w“‘ J(r.f/”.? )no/c.-_;//ﬁc_/bfi‘._rf' 9
9. Prove that a straight line, drawn from the centre of a circle to bisect a chord
( which is not a diameter ) is perpendicular to the chord.
OR
_.L.':'!'U;J;.-é-ﬂ.u:“;éa Je ,ﬁ’@'d’:lﬂgﬂ;d/r‘/ﬂbd.;a/"d}’ udd../b(f(fé_ﬂt"
Prove that the measure of a central angle of a minor arc of a circle, is double that
of the angle subtended by the corresponding major arc.
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L._..-u?.:.—-'ua.L,':us;f:i’.ﬁ:;é:.bdi-dr:‘g.;gé’ﬂ_}lf-;ﬁifsf.'— DasCe B« A.:;yli.*falgﬁdirﬁ HE
_E'ﬁfr‘jﬁih',lﬁu!ri L}:a;ﬂJL/r{f..'.a5'!..A'..ff{fu:!;i)ugJL.Q_‘&J/E'LQ;L;AJG;UW&W

Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.
D C B A Questions / =y Rr
W ,m?‘ l.—@ l,@ {.=1 E;ﬁd‘/ui.gnﬁdﬂ -]
Two square roots of unity are :
}r/ p 73 35&5 :.t'r------gﬁa.ﬂn...sﬂfd_.fhuﬁ 2
Centre Diameter Chord Secant A circle has only one - °
Lesidle -] eSSy bl ek bzlalily 4k
: . _ Central The spread or scatterness of observations
Mean Dispersion tendency Average in a data set is called :
" < : I\ y 3 {12 s (1] 4
P ﬁ? 3 7 Thu_v;:?dr; ,}f,lf;bbg!j{_;i skl
Diameter Sector Segment Chord Mcfrg{é?;g;doa: ;gclfcaif‘éﬁ;ecn te Ul e
(x+8).11(x+T7) (x—8)(x-7) (x=8)l(x+7) |  (x+8)ust(x=T) ;;\f fﬁ Gos ,_f, ,‘:: x° =15x + 56 5
Gy (et | e-Dakx-8) [Gex-8)| NaEH Ig \ﬁo linear factors of x” —15x+56 are :
A_B é B q ,rf'\\ ’ etwsAUBInAcB /|6
\ S If ACB ,then AU B is equal to :
i . . Line segment joining any point of the
Perimeter Circumference Dlametl@ﬁé.\ \th ial segment | circle to the centre is calied :
)
S B (@ I wr b el btazbiic:d s 8
Fourth Third S l;-;:;;%n:emes M;ans' Ina proportion a:b::c:d, b and
proportional proportional | 1 ¢ are called :
L) ; e LSS f e F st ik | 9
2 gt S J The arcs opposite to 01 Y .
Perpendicular Parallel Incongruent Congruent incongruent central angles of a circle
are always :
| i ={00,2),(2,3),(3,3),(3,4) }.fi | 10
t0,2,3) 10.2,4] 12,3,41 L0340 Thedomamot r_anomRir
={(0,2).(2,3),03,3),(3,4) }is:
umfs,u!:x —x-1=0=isl» [3:(1/"* 1l
-4 4 2 -2 Ifa,p etwe L b8 2Bs2a)
are the roots of x* - x~1 =0, then
product of the roots 2o and 2 is :
v =k yr=o = ek et e dnylat Sif T
x x X X
fu Cso G ¥, L die ok Sy | 1B
Triangles Circles Rectangles Squares A histogram is a set of adlacent s
3 51 1 0 e PSP LS |
Product of cube roots of unity is :
155" 150° 30° 115° TR- radians = : = f & _?%r_ B
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12 2. Write short answers to any SIX (6) questions : P~ Az A L =iy (6)4'&43! 2

(1) Define exponential equation. AT Jenl-dicd @
(11) Solve by factorization : x? —11x =152 :ép}"df“,ﬂﬂ. (i1)
(111) Solve : 2 +2x-2=0 i‘J’ (111)
(iv) Evaluate : (1-3w - 3e*) "r’_fr':l"‘...-i (iv)

bl AL s e S0 (V)
(v) Find the product of complex cube roots of unity.
..E;{‘)j”.:AEJx SUnA22:5 0 3x+1:6+4x u.‘.:’J/rF (vi)
(vi) Ifthe ratios 3x+1:6+4x and 2:5 are equal, find the value of x.
xy =24 ﬁéf(s]”x dnx= 3 Gatln 4 sl yoc— 1 (vid)

(vid) If ymi and y =4 when x =3, find x wheny = 24,( \h/”
X

(viid) Find @? ,if o =" +2‘K— r:%\%\??-rk’ w® ¥x o= —1+2J—_3 S (viii)
(ix) Find a third proportional to : j;(ﬁy)?! P : ér:h" 2 (%)
12 3. Write short answers to any SI%(GT)Sguestmns ] Az A L el (6){4.&)/ 3
(1) Resolve into partial frau:‘ciaans\fer ‘ Y Vi L : gﬁ]_):."”ptus/dnz (D

. (5:\ ™ (x—4)(x+3)
(i1)  What are partial fractions? cdnl 7Sz i)

e VAKX InY=12,459} o X ={1,47,9} J1iDd)
(i) If X ={1,4,7,9} and Y={2,4.5,9}, thenfind ¥ n X
(1v) Define an Onto function. -’é_-f-..y/’:"dfd‘lﬁ:ﬁ-uf Gv)
I B-A InB=WisA=NS1 (V)
(v) If A=N and B =W then find the value of B— A
-élr‘:l’“ixﬂuc’:@u S LxM duM={d,e,f,g} s L={a,b,c }/rl (vi)
(vi) If L={a,b,c} ., M={d,ef g},then find two binary relations in L x M
200, 225, 350, 375,270, 320,290 &= baidlobire 3 E P 1ok (vii)

(vil) Find the arithmetic mean by direct method for the set of
data : 200, 225, 350, 375, 270, 320,290

(viii) Define class mark. -é_@}d’ut‘iﬂim (vii1)
(ix) Name two measures of central tendency. -&Url.‘c‘:uﬁg.,.uﬁ:;)@;d Sy (Gx)

12 4. Write short answers to any SIX (6) questions : ! ef.:,y_e L =i (6){:.-31( 4
(i) Find ‘r ', when ¢ =56em and 0=45° _ﬁrﬂ-".:.EJr Jy 0=45° £ =56cm —= (1)
(1i) Define radian measure of an angle. Sy Syl G



(2)
4. (iii) Express the angle 315° into radian. M-ﬁl'uéJgu:@%,f,,r; 315° Gi) -4
(iv) State theorem of componendo and dividendo. Jéguy.;.-rjﬂ:%@.ff‘ (v)
(v) Find the fourth proportional to 8, 7, 6. & (9 FE 26 8,7,6 (v)
e mZB Jx ¢58cm sib=15cm +a=17 cm (% AABC ARG
(vi) Ina AABC.,a=17cm,b=15cm andc=8cm, find m£B

(vii) Divide an arc of any length into -ﬁfbﬁuﬁglyg:@‘f.@gﬁwoj (vi1)
four equal parts.

PR j” ol P i) (viid)
(viii) Write the closest quadrantal angles between which the angle —‘—iﬁ lies.

(ix) Verify : (1-sin@)(1 +sin ) =cos’ @ gtk (i)
(PART -1l f5.2)

Note : Attempt THREE questionsinall. ¢339 Frof-eyzlomrd S 1od
But question No.9 is Compulsory.

4 5. (a) Solve by factorization : ﬁl-&-fi-ﬁ:-f—; c EFEf2n (D) 5
x X
4 J’;Z’::’.:-: Jj:..-cf.x2+?x+3mr5=0 ';_;;xilf_“rﬁh’n:ﬁ;f‘,;m (i

(b) Find m, if the roots of the SJEEBa-2p=4

=l

A .':_'\.: {«:'u
equation x*+ 7x +3m-5=0 satisfy2he }uion 3a-2p=4
N
2,2 ol
4 B o JE TR ,,J-é';' < (ab,ce,d#0) a:b=c:d Ji ()) .6
b \p? +d§,_,;§{’gr>y S
5\ %\ S a |at+é?
6. (@) If a:b=c:d (abscig=0) . then show that — =, /—
P b \b?+d?
.('\U“w -
4 (b) Resolve into-partial fractions : —-—-:ai%-— é;):b’ LSz ()
(x+3)(x" +1)
4 B={2,3,57)mA=§1,3579} U=|{ i.2,3,4,5,6,7,8,9,10} J1 (D) .7

(AUBY = A NB JEZEJ i3
7. (@) fU={1,2,3,4,56,78910} A={1,3,579})and B={2,3,57}
then verify (AU B) =408
4 (b) Find the standard deviation =S : e 8 A (&)
9,3,8,8,9,8,9.18

1‘*‘5!“{:}_‘_5?“9:4{@63&{:5 ;é;_.:bf._-:..fbf ) 8
l-sin@ 1+sind

4 8. (a) Verify the identity :

4 45° .2 _5£ fuhﬂ_.u;ud:d_dsliz’a;.:ﬁg:fb ()
(b) Draw circle which touches both the arms of angle : 45°
8 -?rﬁ;rfé;;cb;ﬂﬂhi.fr_ﬁ-;‘:’-g( (w7 )}'s(}/cd'/r/f.d_.jh 9

9. A straight line, drawn from the centre of a circle to bisect a chord ( which is
not a diameter ) is perpendicular to the chord.
OR t
FU A AL Ry )’fu;_‘fﬂ}cﬁ;u:f.{f{d:ﬂﬁ"é.:Ud'/r/.ﬂ/(hj:u.f’b LS s
If the angles subtended by two chords of a circle ( or congruent circles) Il
at the centre ( corresponding centres) are equal, the chords are equal.

273-021-1-(Essay Type)-105000
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L.,.a,z;.m.—_ufu,juia_.Ja.L-LJIrM_Lés’@g-Ugéz_.J DsiCe B ¢« Acyiz el 124
_byﬁ.ff“"“hu.._.—!ﬁufiuﬁ'a:r‘g{i_/fg/daﬂi_/,;fuu,w:&JL-{JJ—&JA(:.L;EQLL):;!JEWQ:W
Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.
D C B A Questions / = Ui P
3
x”+1 -]
:,r E:r" & f ; :"C"'"""'"":I
) . /.-e—?"/-:’ Sty (x—1)(x+2)
Agonghnt An identity AR IMpIUger | o proper fraction x> +1
term fraction P . S i S SR
(x=1)(x+2)
secant §_/i» | tangentfe_si» | cosine ¥e/h gt % :L,Eé{uﬁ_,‘/;}‘ﬂ.a}nib—&p.ﬁhﬁfﬁ_g ;
2
Secant of a Tangent of a Cosine of a Sine of a.ci A line which has two points in common with
circle circle circle ine of a circle acircle is called :
) Lfsl-_ﬁ:'ff ilees sl :%%*JULT;/TUEJL#‘;}F?AU‘I 3
Mean Harmonic mean Median Mode Elzﬁggf}s - ;":Jlt:mm"mg observation:in a
Ao’ - —— = :
L_r’z Lf‘l Lf3 Lf‘4 0‘3 i\\&dﬁﬁi& f'u«f.d...zhdlrji_;/ﬁ’ﬁcﬁ.ﬂ;..&:! 4
_ _ _ 250 The length of the diameter of a circle s
2 times 1 time 3 times 4 time§7~ | how many times the radius of the circle :
. _,;;@\\‘vhj UEE;.)LL)’JP:(.:J:LJ&;JJJ 3
4 A . {i‘.‘:j""’ﬂ The number of methods to solve a
AN quadratic equation is :
7 f\';"-\\‘x - =
> e QoIS l e L {1,2,3 4|9
9 8 ‘&Té; 4 The number of elements in power set
AW §1.2,3}is :
e B4 02 w s Through how '.c.‘f_LTJ} ;-_J,L:i?ub /_-f:':fa}b L
Four Three Twa Ohe many non-collinear points can a circle pass:
11 3 ¥ L2 el x5 15 §
4 3 4 Find x in proportiond :x::5:15 :
. :c;_t'ﬁ__u:fsiid?’/ﬂf...iﬁ"é:d._;b ?
360° 270° 180° 90 3 .
The semi circumference and the diameter of a
circle both subtend a central angle of :
{ s ebnss ANB ?ﬁAgBﬁ 10
(¢} ? B A ' g
If A< B,then ANB isequalto :
" ) 1
®.0° 1,-o |, Y=l G el g6 | 1
g Two square roots of unity are :
1 2k 2 1 -G 1 12
'].'2 :k'\.‘s }‘,223’2 }:2 :—{ yh=-w—j- Ify ':C"'—J' ‘thel'] . ,,iﬂ-}f 0’.:—3 /rl
x x X X
sl KU 1) KU . ; ﬁq..-&f.’ij}o)( 13
Data Circles Rectangles Squares A histogram is a set of adjacent :
2 N — L —1,~ m:—mz Zg:t'.?—ﬁf.fig£ ~1|H
L-o-o L=a,2 e Cube roots of — 1 are .
] -1 0 tand cosec’@—cot® @ = — ———: 13
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12 2. Write short answers to any SIX (6) questions : ul.li’ /ﬂ L =y (ﬁ)gc_&f 2

(1) Define reciprocal equation. ucf_-r-‘....y/’J.:...bL—-‘Jﬁ‘ (1)
2
(ii) Solve : (2x—%} =§- 2 FoGiD
(iii) Solve : V3x?+x—-443=0 10 A (1))

3x2 +7x-13=0 :é&ﬂgrh—"'*g}/‘,f,’ucﬁalsb—- (iv)

(iv) Discuss the nature of roots of equation 3x2+7x-13=0

(v) Find o® Jif w =:1—+j§-@ ..i'[‘:}"‘ 0 v op=—""" _1+ )’l (v)
-1,-7 éulrbﬂdundlsgfuz‘c.; (vi)

(vi) Write the quadratic equation having roots : —1,-7 . ‘
..:"': o edx Junsty 2680 3x+1:6+4x S (viD)

(vil) If the ratios 3x+1:6+4x and 2 : S are equal, find the i'\_'_‘,‘ ¢ of x.
/ \ O 1 .
-vibh=8 .égt “1‘;!&"“__. ta «eb=4-2a=3s axc— (viii)
1 o ‘ i B2
(vii) a«x el and a=3 whenb=4, finda wl'{en_b‘—
4’@

(ix) Find a mean proportional hetween%i“ 2 x-—l-_y -é(':b".xuld&ax —¥, y (%)
&~ il

12 3. Write short answers tqfﬁpF)SIX (6) questions : . @ ez L =y (6);{;{3! 3
(i) Define a rational fraét}on Ay NP

(ii) Resolve into partial fractions : L : éﬁuﬁf/d;;z (11)
(x—4)(x%3)

(iii) State De Morgan’s laws. LA (i)
ek XY IxY={2,4,59) « X ={1,47.9; [I (V)

(iv) If X ={1,4,7,9} . ¥ ={2,4,5,9},thenfind XY
Z#B-A Jx B=W.A=NS )

(v) If A=N, B=W,thenfind B— A.

(vi) Find @ and b if (3-2a,b-1)=(a-7 ,2b+5) Siged bosta (Vi)
(vil) Define mode. ZEow Al (vid)
(viii) What is a histogram? e LB (viid)
(ix) Define standard deviation. -é_éi /." J A A (1X)
12 4. Write short answers to any SIX (6) questions : of Y4 /i? L =iy (6).{:-_.431( 4
(i) Define ratio and give one example. -ﬁ:d@_ﬁgsf’é_@ﬁJM (1)
(i1) Find the third proportional to 28 and 4. s FE28 14 (i)

_ZE et ST MDY 315080 Gid)
(ii1) Express 315.18° into DY, M’ and S” form.



(2)
4. (iv) Convert 7?7[ into degree. m '62’” -édgu:djf}fl; (iv) -4

(v) Prove that : (1-sin?@)(1 +tan’ ) =1 : .ﬁ?ﬁd.:rl‘." (v)
(vi) Find & ,when ¢=4.5m .r=25m r=25m:«f{=45m J/ﬁ:r';j"‘ g (vi)
(vii) Express the angle into radian : 1357 D LS (viD)

“Z# mLB Fx c=8cm sb=15cm «a=17em & AABC 1 (viiD)

(viii) Ina AABC,a=17cm,b=15cm andc=8cm, find m< B
S U e I oy %
(ix) Divide an arc of any length into four equal parts.

(PART 11 #1552 )
Note : Attempt THREE questions in all. -9 /ijr’f’_efy,f.e&:..mr@f S e
But question No.9 is Compulsory.
4 5. (a) Solve the equation by completing square : : 2= F ;d;ﬁ.,_u;_.fauu (3] 5
7x2+2x-1=0
4 L oxt 420 ~13x% - 14x+24=0 ehlr —4 w3 JZEZS 7 5 o0n (L)
. ...(_,f:fuju
(b) Solve by using synthetic division, if 3 and -4 a,{?ﬁffg;;\,mms of the

equation x* +2x* —13x2 —14x+24 =0 . (*\‘(

4 p= 0K fi 303) xide - bt d .:a-rﬂ,k‘;h-ﬁ.ﬁﬁ* (%) .6
y—z x+3y x-3z N3V
N x-3y x+43z
6. (a) Using theorem of componendo-gal;%)i‘déifdo find the value of : -
AN x+3y x-3z
o\ \L‘I'/
If I:—?'—zz_ {Q){/ o
& ﬁ:\f“&*. 3
4 (b) Resolve mthgaﬂ;al fractions £ +72'X+” :E;‘:(J:b'uf;r/dszz (=)
0 (x +2)%(x43)
4 A=1{1,3,57,9}U={1,2,3,4,5,6,7,8,9,10} .1 ()) .7

(A-B) =A"UB Z=fn B={1,4,7,10}
7. @ If U={1,2,3,4,5,6,7,8.9,10} ,A=§1,3,5,7,9},B={1,4,7,10},
then prove that (4A-B) =4" U B
4 O e 11500, 12400, 15000, 14500, 14800 1o (e I Goitify (o)
(b)  Find the standard deviation of five teachers’ salaries in rupees :
11500, 12400, 15000, 14500, 14800

4 8. (a) Provethat : Hsﬁng—l_s%nﬂ:‘#tanﬁsecﬁ gk (D) 8
l.—smf? l1+sin@
4 -gJVJ:Q.Lc)l;ﬁ('(ﬁ .l»-’ﬁd_l:-‘JJB"/(I'/LL-)'f)'f-f-f_‘_.:{f_/’!:dsL-«*uLlsJFufz.4 ()

(b) Draw two equal circles of each radius 2.4 cm. If the distance between
their centres is 6 cm, then draw their transverse tangents.

8 -ié.t'ﬁﬂ‘f{;!rb)',ﬂ'gﬂhi.fmiffJ(ﬂ-ﬁﬁﬁ ))'sd’ra.f/!:d_;l: .9
9. A straight line drawn from the centre of a circle to bisect a chord ( which is
not a diameter ) is perpendicular to the chord.
OR L
Y, PR P20 u':J[,JU’Vu;JJZ.r_jh:..JﬁUJ,:.Jr
Two tangents drawn to a circle from a point outside it, are equal in length.
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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
wo or more circles will result in_zero mark in that question.
D ¢ B A Questions / =i F 74
0 29 2cos? @ 25ec? WS, S H
cos s* 2 2sec” : A e e
e il b 1+sin@ 1-sin@
) u v “d ¥
u=vk u=wk u=wk? u=vk" If —=—=k  then : /== —=¢% f' .
VW v__w
!’u;'ﬁ' FL,.'i;{J 'fw&f"’ h“uﬁf : .la".?..;;?'_f-‘JK j
Triangles Circles Rectangles Squares A histogram is a set of adjacent :
7 P " P lﬂgwﬁﬁﬁ;;%sijdjﬁéﬂw.g i
.6 :I 2 5 Th;;-{f\“ﬁ‘;ﬁa’re‘ of the external angle of a
regular hexagon is :
b ..:,.,_l"n; ._*.:'_'._gb __0_.:"3; < {:\? \@t\bénllecﬁon i ?.;MJJ{K&?ISU 5
Set Power set Proper set Subset~ . > | of well defined objects is called :
A~ o Lo
’ : ,-i\\i/&/ L{Ié,}é&z_f(ffc.uv&uu 6
4 . - féjﬂ The number of methods to solve a
AN, quadralic equation is :
secant¥e_/1s | tangent ¥/ | cosine @3 'sint: K2, EnSPBLordLe k|
Secant of a Tangentofa | Cosingofa : . % A line which has only one point in W
circle circle f-C?Em:Ie Stne of a circle common with a circle is calllfd :
J
(x+8)4(x+7) (x—8)si(x~T) ~8)(x+T7) (x+8)l(x-T7) qu/’._ai;‘,,_{,,L xz ~15x + 56 8
(X+7) & (x+8) (-N&(x-8) | (D& KB D&+ Twao linear factors of x2 — 15x+56 are :
& > - - -~
=k A2l =hiles ff—.-"-r’.f:' S IR 2 ?
Identity A proper fraction | An equation' | AT Improper (x+1)(x-1) (x+1)(x=1)
2 : o 10
TN -l-a.0° | .~ -l,~-m-o .4_;?-.-:‘1'“?4_ -1
L-w-o ) il Cube roots of — 1 are :
\ : 1l
AU(BUC) | ArBIAARC) | A (BAC) | (AuByaue) g-brlL AU(BNC)
( )|« A ) BTG | Au(BNC)isequalto :
, . |t et T
gz i g J A pair of chords of a LYt
Parallel Overlapping Incongruent Congruent circile subtending two congruent central
angles is :
=k HE t.'r'a’t-":f/’ b sl : g_ﬂk(s'il_f{bf:.-u[_ﬂﬁrf i
o _—— Central _ The spread or scattering of observations
Median Dispersion tendency Average in a data set is called :
- AFE ey e Wl e btaib:iic:d | B
Third Fourth Fxtre’m‘-; M; 4 Ina proportion a:b::c:d, b and
proportional proportional ; 5 S c are called :
O 1 i o : eobd s Spfa | 1

The symbol for a triangle is denoted by :
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( PART -1 Jsf..-ﬂ? )
12 2. Write short answers to any SIX (6) questions : @ 2:4!3;" L =y (6){4'_:1{ 2
(1) Define exponential equation and give an example. -Z:;JB‘«'_Q;:JE_:’..&J,;J;J:L-JU;; (1)

7a 1 9 "
(11) Solve : 2.1"—-2-)2 'H;l‘ éd' (11)
(i11)  Solve the given equalion using quadratic formula : E'::rbfa.dw"”lé L'!‘Jiilj.uﬁ!r_“.-l!i.r‘(:f"dj (111)
2-x*=Tx
(iv) Evaluate : (1-a+w?)’ :ér‘rh"..:.-é (v)
ce x=20/926 X+ x2 = Tx+2 fé&:ﬁ;u;{r‘? W)

(v) Using synthetic division, show that x — 2 is a factor of B x® =T 42

0,-3 :éx_;;bb—*&;»:augfu’?uz@: (vi)

(vi) Write the quadratic equation having roots : 0,3 ) )
(vi1) Define proportion. @”\Q\{\ BE A (viD)

P WA\ TTI 2 w=2 i w 2 (i)

v

] 9%\:; 2
(vtir) If wee — and w=2when v=3, lheg\nfﬁ"

-

(ix) Find a third proportional to : f Zb*. a-b g (‘sj"...-r‘b-l/""' ¢ |
12 3. Write short answers to any ¢ %l)&@ questlons : dg«..d,l'i Ve 5. =y (6).-?:_6:(
(1) Define i lmpmpcr fraction w,lg‘@f;)\éxample RN A I LT I C)

i) Resolve >+ @Qwﬂ partia rastion.. 2t o o d =200 G

(i) If ¥ =¢ , Y=2" . thenfind X nY Bk XA Sn¥=2" ¢ X=¢ ) (i

(2a+5,3)~(7,b-4)/iZ & bata (v)
(iv) Find gand b .if (2a+5,3)=(7.b-4)
ety I s OE M Funebn 5 ZM ST (V)
(v) Ifset M has 5 elements. then find the numbers of binary relations in M.
(vi) Define a bijective function. ,ﬁ_g;TJJhL_-'?JL (vi)
2L e bl e ir IS d i A 2 AEL LuF bl (vid)
(vii) The marks of seven students in Mathematics are as follows, calculate the arithmetic mean:
’ 1'3‘34}5"““1

| Student No. sd$us i
Marks 37n/fe | 45 | 60 TM B3 6_3_| 49

(viil) Find the modal size of shoes :i-,‘:l”nk;.,.uule.ru'i.;pf,;.'IH-..'.'--"L—’.‘ SuizatyJitss (viiD)

for the following data = 4 4 5 5 6 66,7.7,5,7,5,8,8.8,6,5,6,5,7
{ix) Define median and write its formula. &y oty P S bes (iX)
12 4. Write short answers to any SIX (6) questions : ﬂaw AL ey (6){:41; 4
(1) Convert 3—:: radians to degrees. Lo betsds o oY, %:i (1)

(i1) Find 'r°. when ¢ =S2cm . 6=45° 0=45° « I = S2em LSEeP 7 (i)



)

Er# msA Ix c=8cm sb=15cm va=17cem 2 AABC J1 (i) -4
4. (ii1) Ina AABC,a=17cm,b=15cm andc=8 cm . find m 2 A

(iv)  Define diameter of a circle. -a,{._.y}'J,ﬁ'Lg_jr: (iv)
(v) Define sccant of a circle. S5l (W)
(vi) Define circumference of the circle. e (vi)
(vil) Define central angle of a circle. e r Ly (viD)
(viii) Define circum circle, Gl (viid)

(ix) The length of each side of a -frP$viKJJ_a{3 JUJ&'ZU}W@ (ix)

regular octagon is 3 em. Measure its perimeter.

( PART -1l /5.0 )

Note : Attempt THREE questions in all. +UJU 9 ﬁ"'d!rwg -é@}fﬁéaﬂifuf J ROT
But question No.9 is Compuisory.

4 5. (a) Solve the equation : 2x=9x% -4 p ES et (D) 5
4 K A — 5 X —6=0 =ifo— 111:/"{1.}"(‘"‘;-‘3»,» (o)
(b) Solve by using syntheuc division if — 1 is the ro:{?ﬁ%ﬁe
equation 4x’ - ¥’ —ll.r 6=0 {9
2 2 .f]
4 ac +ce + ea ace .-f_.»w d 0) a_c ¢ i 6
bdrdi+ b bde % L{@c “f* G odF T

6 @ Hials f. \()\#/{?; then show that S FCe+ea | ace &

' b d F Nﬁ' bd~df + b | baf
4 (b) Resu!vemlopﬁr@?ﬁaclmns: __j:’f.:"_?__ :"-J:"L,ﬁ;/ds;z ()

Q™ (x'+1)(x+3}

4 B={2,3,57} #A={1,3,5,7,94}U={123,4,56,7289 10001 () .7

(ANBY = A UB JZE T id7

7. @ K U={1,2,3,4,56,7.8.9,10},A= {1,3,57.9})and B={2,3,5,7}
then verify (AN B)' = A"U B’

4 ' ff:‘”..»/’c@é;u/du‘uéu)‘_%; (o)

(b)  The marks of six students in Mathematics arc given, determine variance,
£ Sludcnt ,f'..,-up L1 2]3]47]s f’—‘

| Marks ;4 | 60 70 [ 30 [ 90 | 80 | 42

4 8. (a) Verify theidentity : cos'@-sin*@=cos’@-sin’0 : e/l (D) 8

4 LS Al S 35 Uk gl ()
(b)  About a circle of radius 3.5 cm, describe a regular hcxagon

8 AL VJ Lr‘fLuﬂ.L-'UlLst«':_)/!nuﬁL/I)J/é-.:rr 9

9. Prove that two chords of a circle which are equidistant {from the centre are congruent.
OR L

_._EL.:"fl/f"qu fﬂ’,’l'u‘n, f.r,#'d*.—ﬁf;.sb ud: _fé_,e-
Prove that any two angles in the same segment of a circle are equal.

273-020-1-(Essay Type)-100000
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R

Z..,r:r:fi:c,;_,':‘_r,}ni?._.:&viwr;¢Q{Qii_££a:: DusCe B s A.-:-i,lﬁ.'-ﬁ,igﬁdlr_.r
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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.

D C B A Questions / = v i7
; 2 1-1
[ — = .'_",l
+9 (421 (43 (£4) I'he §.....:'J’b/4x 21.6 0= tsls
solution set of equation 4x° —16 =0 is:
- G 2
4 " 4 1 FUnS il Tx? - x+ 4= G..'.«FJL»‘B-(I/rl B
- = = s [f o, P are the roots of D esraf
1 4 7 7 2 e
7x” = x+4 =0 then af is :
o l.—w 1 @ i =il ’ . Zu?d’/ibﬁgudcg’ﬁll 3
['wo squafe roots of unity are :
TON=D 1
12 3 - i NE P x5 15 |
4 3 4 Hingd X in proportion 4 :x::5:15 :
. ]II - =
h_y a+h L. E"_z_!iﬁ(\ﬁ(g 2% | S r-_..:.-r’u"gﬂﬁa ch=x:v S}
- P A ; : "
a x b a=b x-y EAYT " [ a:b =x:y, then invertendo property is :
P 3
RN x +1 ﬁ
- = - . — 'd'pf;o -
AL Szl &y S Lyt ympe——
: il =L d _"*'?l'/f : Q\x At (x=1)(x+2)
consant An identity AR llmp:_'np\@) “A proper fraction x? 41 ;
term ﬁa&@/ : g
PN, (.\"‘"])LX"‘E]
i “‘.‘ )- 1 !
o S e &yiE\;l»_,_.u‘? LS S s et {xixeW Ax<10] K
Finite set Null set Subset Infinite set The set {x|xeW Ax<101} is :
iborsiz A UB Jusmar (7> 7 BoAS1 |8
BuA ¢ B A If Aand B are disjoint sets, then A U B
1S equal 10 :
KU sl &'u.!’:"’:"‘ s s : yi‘-;fﬁd# 9
Triangles Circles Rectangles Squares A histogram is a set of adjacent :
0% e o fua o Jdd The extent :V_?.fffu")é.;.ugjl?l;;ﬂrf 10
: Quartile . of variation between two extreme
Domain Range Average observations of a data set is measured by :
36° 150° 135° 115° i radians = =L ks x 1
4 " 4
d’gg b P Sl 2?W{;JUIJ;_;JJ‘;. .'f/'[_r‘_.;h 12
Secant Circumference Diameter Radius tl::!grfs Eﬁf‘:ﬁg:‘hmu% Feocntre ofa
secant ¥<./i» | tangent §< 1 | cosine K /s i, &, iﬂ-‘ﬁ"ﬂ-ﬁdﬂivim}m’uﬁﬁ.ﬁ 13
Secant of a Tangent of a Cosine of a : . A line which has only one point in W
b circle circle PRI GERe: | omman with a circle is called : -
S5 iz u;‘:;_/!‘ J*LF‘ u‘r;fajwaj_c.usx':uozé.ﬂ}d'fréJ Ly | 14
o ey A pair of chords of a circle Ure
Parallel Overlapping Incongruent Congruent subtending two congruent central angles i -
z od i T te st Lo Fis | 15
5 4 3 2 Angle inscribed in a semicircle is :
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LHR-lo-GrL-2e

(2018-2020 t 2016-2018 XU ) ( S p# s ommcemmmmeeeemmmmmmn Ay

MATHEMATICS (SCIENCE) (V) &L
Paper : Il (Essay Type) (V1555 ) 2020 GAze) 11 0 a4
Time Allowed : 2.10 hours (m/!/u) £210 : =5
Maximum Marks : 60 60 : AJS

( PART -1 d:l,.-ﬂ?’ )
12 2. Write short answers to any SIX (6) questions : .._J,F? AL =iy (6){4&( 2
(1) Write in the standard form of quadratic equation : :a‘futtﬁd;y»J_a,uJ. mifenls (D
(x+TH(x=-3)=-7
(ii) Solve equation by using quadratic formula : 2 - 2 =7x @S fene ol Kl (i)
(i11) Solve by factorization : 5x% = 15x : éd'd;f.ﬁx.‘g (ii1)
-&]‘Paﬁ&)&' 9x% ~30x+25=0 =hlsFuss (iv)
(iv) Find the discriminant of quadratic equation 9x* —30x +25=0
(x> +x% -3x+2)+(x-2) irﬂ#ém_ﬁfb.ﬂ_ﬁz,fdmfﬁu-fi (v)
(v) Use synthetic division to find the quotient and remainder, when (P +x?=3x+2)+(x-2)

_;h‘JJJué:. 16,;; ~8x+1=0 ahl G V1)
(vi) Discuss the nature of the roots of equation 16x% —8x +/L* 0\«’ )

(vii) Find the third proportional to 6, 12 ’\:&\;., 612 ér.fh’ql?"l/f (vid)
(viii) Define inverse variation. (S @y FS R (viid)

-Urhy 4 4_/75 ma+3:7 Paufﬂ.ﬁ‘i(}"‘_d’;fa (1x)
(ix) Find a, if the ratiosa +3:7 +a and @fpﬁr are equal
12 3. Write short answers to any SB& gﬁl\tjueslmna : éf...»',ii AL iy (6)4'4-.'_-51( 3
(1) Define identity. ,\r\* -J:.y/’JJw’ (i)
(i1) Resolve into pdﬂiﬁ]\m:;}:; : Ji-3 : ng,kyuuﬁu;/;‘;}? (i)
(x+]]{1 3) :
(i11) Define function. -E’,’g..,i_*/-"JJL'; (1)
X = .:-:_'FU!-’/_L{&L:%’:;]? :'f:lﬁ!)/;" xrl (v)
Y= -‘-—:’E'}J..-“JJJ;; 122_2
S X NY

(iv) If X = Set of prime numbers less than or equal ta'17
Y = Set of first 12 natural numbers
then find X Y.
ZeBxA i B={c,d} #»A={a,b).)i
(v) IfA={ua,b}andB={c,d} thenfind Bx A.

(vi) Find a and b if (2a+5,3)=(7,b-4) Jiged boata (Vi)
(vii) Define class limits. -rf,...deumJ"w (vii)
(viil) The salaries of five teachers are as -zf;-’;-}v.:.,-,nqw b’u,v:lf...,,r_?J_ sy Ju'trlg,]_, (vii)
follows. Find mean salary : 11500. 12400, 15000, 14500, 14800

e STAL L X=12,5,8.4 47 (%)
(ix) Find harmonic mean for the data X = 12. 5, 8,4
12 4. Write short answers to any SIX (6) questions : : é.:-wt AL 2y (6}4':_5:( A4
(1) Define radian. v ess ()
(i) Conven ‘: radians to degree. ZdessS c,;;y% (ii)



(<)
“Ze# mZB Jxc=8cm« b=15cm «a=17cm £ AABC 1 (i) -4
4. (iii) Ina AABC,a=17cm,b=15cm ,c=8cm, find m~ZB

(iv) Define minor arc of a circle. E WGl (V)
(v) Define secant of a circle. E PN (V)
(vi) Define an arc of a circle. -é_ég,;(fd;ﬁr_.;b (vi)
(vii) Define circum angle. Sy (vid)
(viii) Define circumscribed circle. ZEw 6y (viid)

e LI Tune 4 3 A el BC s AB Sl S S (%)
(ix) If |;1‘E{ =3cm, 1 BC ‘ =4cm are the lengths of two chords of an arc then
locate the centre of the arc.

(PART -1l #5s2 )

Note : Attempt THREE questions in all. .:,'.U'}U 9 /:]dlrg-}‘-p —£:4I££.=UFrcf J T
But question No.9 is Compulsory.

- 5. (@) Solve the equation by completing square : : E‘E&J" Cf/f.ﬁ;&f..:-lsbﬂ (}) 8

x* - 2x-195=0
4 " +2{k+2}x+{'§k+4) Oc{(:"’ux’Jk mmug’ui sl 1 ()
(b) Find the valuenfk :Frootsoflheequatmnareeg 6\‘:‘3‘+2(’1’t’+2):f.'-+-[3k+4} 0
4 ‘{,“j * }x 2 : éwf_,:,%,;zfum,..a&‘” i () 6
x43 - Jx-
.f ;]» i v
6. (a) Using theorem of componendo- mﬂma“a solve the equation : il +Jx -
o’ Jx+3 - Jx-3 3
\Q\ 2
4 (b) Resolve into pamai,@ﬁ.dgﬁ% : - +?2x+11 Z-SJ:F S §s2 (..-)
(p::‘; (x+2) (x+3)
4 B={1,4,7,40Y A={1,357%9} U={1,2,3,4,-—10} /i ()) 7

(A-BY =A' UB ZEort
7. (@ If U={1.2,3,4, .10}, A={1,3,5.79}.B={1,4,7,10} then
prove that (4A—B) =4 UB
4 e ond a0 s A IS i e R P e ()
(b) Find the variance about mean of the students. who obtained marks in
Statistics :
| Marks () y | 6262 65T68 67 [ 48 |

4 8. (a) Provethat : + _ =2cosec’d s &k (D) .8
l-cosf 1+cos@
4 et ar PSS 3 ke indl (L)
(b)  Circumscribe a regular hexagon about a circle radius 3 cm.
8 -!.Qﬁ.l‘u]ldsbr‘c_frfu:’umj L:".-'::J:‘:a_ﬂ;f*fé..—-t" 9
9. Prove that if two chords of a circle are congruent then they will be equidistant from
the centre. OR L

AL sl ;Jj"uf’u.a/ﬁ'.ﬁi"[ﬁ..ﬁ?d..ﬂ) nfd'....r?
Prove that any two angles in the same segment of a circle are equal.
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L.fif&-‘::c.a_):u:;f?f:fd_.J.";‘.L-Ldlrﬁ.aéfé'ﬁuwi'@_.J DusCe B « A&'}'ﬁ.’ﬁdkﬂid’fﬁ Ly
K eilifim it §E S S M S Pnrie L. h e B S A 55 T

Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in_zero mark in that question.
D C B A Questions / =iy i7
2 » | I-
L— C!J,—(Hz == i, = &J,fvz - i, - ﬂ‘)..—wz - l’m’_w .ﬁ,f'-'fﬂla‘jfi ‘~ 1 I
Cube roots of *-1” are :
4 1 2 | @%}ZﬁL[J[&I}PGJJM -
) The number of methods to solve a
quadratic equation is :
. o % I e e 3
b* —dac -b% +4ac b? +4ac ~b*—4ac '+rﬁ'Ju/{m * bzx litas i
The discriminant of ax” +bx+¢=0 is :
I 0 \'. -
uv” =l uv? =k u=kv? u=v* Iffa(\'%\?é? then : Fue v 1|4
; ol
a-b_x-y a+b x+y o ﬂ=ﬁb_;\,-ﬁ‘ﬁ?—/ ‘L.:a-:-}df*l?a:b=x:y;l 5
X y b b x s P J .
» y C}%ﬁ‘\a ‘a:b=x:y, then alternando property is :
e - L 6
p e i }ﬁ%#*f : (‘_-_2 Li(x+3)2 = x2 +6x+9
Fraction Aniidentity | An equation [>) ﬂu‘a':f{j; (x+3)"=x"+6x+9 is
N I 11&{5\) 1 e enfBA-1,4) |
{\’SW Point (— 1, 4) lies in ---- quadrant :
QW eSSl e £{1,2,3) |
’ 8 6 4 The number of elements in a power set
0,2, 3 }is ¢
1 &r ! iy S SI—— ) 27 (Y-
Circle Square Rectangle. | Closed figure | A fiequency polygon is a many sided :
O ify 7 _ 10
30“ 600 450 gou . — " tdng — \[5)1
if tan@ = /3 then 0 is equal to :
sin@ 1 1 " 1
— ' secd cotf=——- :
cosf sin 8 cos il
- e % . i ] #, ]2
ey sl A o | e LB L
An arc A chord Diameter Radius T'he distance of any point of the circle to
its centre is called :
Sy - 7 e T (R Py Pl R
Centre Diameter Chord Secant A circle has only one ---- :
. u":’Ta:..L,_’}’-?-__r_'_u:.:supﬂé.ﬂ}d?//gfbbu 14
S > J J‘V-‘/f A pair of chords of a D B
Parallel Overlapping Congruent Incongruent | circle subtending two congruent central
angles is :
) ; BE L by S L il s | 15
4 ? o I How many common tangents can be
drawn for two disjoint circles :
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Time Allowed : 2.10 hours (/i) 2210 ;=5
Maximum Marks : 60 60 : AJF

( PART -1 zJ;l.ﬂ? )
12 2. Write short answers to any SIX (6) questions : ..-u.i: /ﬂ L =iy (6)4’5&:( k.

(i) Define pure quadratic equation. Give an example. ety I St o (D)

(i1) Solve by factorization : 5x% =30x S FGA s (i)
(iii) Find the discriminant of the following equation : : Eji‘r:""aﬂ/ 3G Gii)
2% -Tx+1=0

-Us -2,3 ;f‘:;d:f&__t;._—.-lxuduu (iv)
(iv) Write the quadratic equation having roots -2, 3
s U X 43x45=0 ahle (V)

(v) Discuss the nature of roots of the equation x> 4+3x+5=0

» - B Lihil=3 P .
(vi) Find &° ,if o= 1+9-3 -éf}” o I 0= H; S0 i

2 ﬁe‘u~
Jf}"’as’uﬂ(tf)t 5n a+3:7+a __,_,,;,ﬁ (vii)

(vil) Find @, ifthe ratios a+3:7+a and 4:5 ane

(viii) Define direct variation. o L\_) -5-4’}’[{...{1;,:” (viii)
(ix) Find a fourth proportional to : o)S?JS 15 D Ee By (%)
12 3. Write short answers to any ‘im\(@ﬁuestmns 4 etz A& L oy (6){.-.:.(;3( 3
(i) Define identity. {m’“& sl el @
(i) Define complement 6{‘\*&?321 il /Lfc'_..-f‘;r LZer (i)

B={3,5,8} wA={2,3,57) L& (AUB) » (4nB) (i
(ii1) Find (4nB) and (AU B) when A={2.3,5,7} and B={3,5,8}
B=W s A=N B (B-4) » (4-8) (V)
(iv) Find (4-B) and (B—A4) when A=N andB=W
(v) Write all subsetof A={a,b} -Z.U-L{J;;'LTL A={a,b} er (v)
:érﬁ’z;w,-,sdﬁj,d_'sanutuﬂf S SEF L L Ly zg Ll (vi)
1.9 ,# 3.1 «<29. 252723

(vi) The sugar contents for a random sample of 6 packs of juice of a certain brand
are as given, find the median : 2.3,2.7,2.5,2.9,3.1 and 1.9

(vii) Define variance. Z e id)
(viil) Find the harmonic meanofadata :  12,5,8,4 :-’:f:r';""hal_ﬁffhf:lf (viii)
(ix) Define mode. P (%)

12 4. Write short answers to any SIX (6) questions : o =2 /ﬂ L =iy (6){;&[ 4
(1) Convert 1} to degrees. -'é{utfuﬂd/ri ' 1} (1)

(i) Find“f ' when 0=180° and r = 49cm  r=49cm » 0=180° L&Z» < 2’ (ii)
(iii) Define projection. oSS Gib



Q) L7~ Yr-/fo-0)

4. (iv) Define collinear points. -é:...g/;meﬁ Gv) -4
(V) Define secant. o Sl V)

(vi) Define sector of a circle. ..r-f_‘-'....y/"J}‘-?..C:;..fu (vi)
(vil) Define chord of a circle. -é-é’;&!fjéﬁ_.:i: (vii)
(viii) Define escribed circle. -i..y/-'cfo}'l:gflg (viii)

(ix) Define vertices. 2w Al (x)

(PART -1 #15)

Note : Attempt THREE questions in all. -4l 9 ﬁzdlrd? -dﬂlﬁﬁamruf J Ly
But question No.9 is Compulsory.

4 5. (a) Solve the equation : 2x*=9x% -4 D ESL et (V) 5
¢’ =a? (1+m2) flﬁuxf,lqu"u& 2+ (J'n.w:+c)|2 =a? ..-..I:L-wféff:a:# ()

(b) Show that the equation x” + (mx+c¢)’> =a® has equal roots if ¢ =a®(1+m?)

3 a3 » s S
4 ii:i;:x_;;f% B f el Soas S, e (9) 6

ihﬁ-:\E)j‘(x 3 _13
(x+5) +(x-3)° 14

6. (a) Using theorem of componendo-dividendo solvem

4 (b) Resolve into partial fraction : ij—??xﬂ) :"-J:Vu.'./dszz ()
4 -{235?},,tA—{14\%§ﬁ9} U={1,2,3,~,10} S (0) 7
?5\3 h (ANBY =A'UB JZEJ1dix
7. (a) lfU{123-ﬁ§,‘;0} A={1,3,5,7,9} and B={2,3,5,7}

then verify that\{A N B) = AU B’
4 Eebre Pt b nidn et SLLloF e (L)

(b) The marks of six students in Mathematics are as follow,
Determine variance

1 i |
Student e 1 =243 | 44516
Marks ;4 | 00.{/70.130{ 90| 80 | 42

4 8. (a) Provethat : 1’ 1+e0@  oing & (D) 8
l-cos@ 1-cosé '
4 ..r-‘fs JQJ&,:LJ'I@@EJDJ#‘ABC 2LEusugl. ()
(b) Inscribe a circle in an equilateral triangle ABC with each side of
length 5 cm.
8 _,.;‘:_rf.._i_—;"’“gfdl ‘ ::f;}'nfr‘:.ffﬁc_;bfé-:ﬂﬂ 9
9. Prove that perpendicular from the centre of a circle on a chord bisect it.
OR L

e trnifisa o s So U7 SR NG IS P crf? ST I S
Prove that the measure of a central angle of a minor arc of a circle, is double that
of the angle subtended by the corresponding major arc.
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MATHEMATICS (SCIENCE) (V) S
Q.Paper : 11 (Objective Type ) (U¥45)-019 GAS 7 ) iz gy
(Time Allowed : 20 Minutes) (oS 10 ) w220 1 =3
(Maximum Marks : 15) PAPER CODE = 7192 15 #F

Z.u_.lﬁ-:.-ruc_;_,ﬁwfbiiz,,:&:.bcCJlr',-:,;;éb’L_iiE-mé':.’c.:: DusCe B« A&b’i&?}kﬁdfﬁ 2
*If:’.';r‘-’.1-13-.,.-!ﬂu;.i.u!:_-u‘dfd'../(‘;):bﬂ_i.ff..;fu:flm'!):;. -g-ﬁ:ﬂ;@gfd:ﬂfﬁ.‘.i@&ﬁf
Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.

D C B A Questions / =y 7
LEE})ZI&:L/L,P:{;J:L-‘L;;HJ -l
4 3 = ! The number of methods to solve a
guadratic equation is :
3 - 1 0 KA L6 | 2
Sum of cube roots of unity is :
o .0° l,-w 1. @ 1,-1 : u?d/"d?”&df' 3
Twao square roots of unity are :
— S0 ¢ S S : rr.l»’/a Sabed|!
Proportion Consequent Antecedent Relation In am@ﬁa b, a is called :
2 / P
X_:_ »* x2y? ¥ e ,1\@ q_..rwf' Kyt Jslx 5
X x? x% o 4% \3\111: third proportional of x* and y’is:
: LN bS8t 8GR S S5 | 6
Al ¢ A { i;li : Sabieli il T/
’ =t . b A fraction in which the :.:;..d Y e
X piager Anidentity | A" IMPrOPEr b {e cquation | degree of th tor is less than th
oction fraction , q gree of the numerator is less than the
; “/ degree of the denominator is called ---- :
. ’ 5, |F
f{a ?\}’ ¢ re b spfer i
t#) té.1a}} é‘rﬁ Power set of an empty set is :
te oy A UB JusmerS 3 4 BsAS1 |8
BUA ¢ B A If Aand B are disjoint sets, then A U B
is equal to :
fur fusis o U L e ok |9
Triangles Circles Rectangles Squares A histogram is a set of adjacent :
| 1 10
2 Z 3 ant + 3
cosd sec” @ 2cos“ @ 2sec” 0 i Aesing
3z |1l
30° 150" 135° FI5° if— radians = : P, i
@ 1L A y : q.ywé_.fgf,qw{ﬂ 12
The symbol for a triangle is denoted by :
S p 71 oL l g btemman Sl #¥e b L B
Centre Diameter Chord Secant A circle has only one —-— :
e Zed B s NMES U P e ikl | 14
The length of a chord :b':f..--,sljd,'f/
75° 60° 45° 30° and the radial segment of a circle are
congruent, then the central angle made by the
chord will be ----- :
i.clg:'_t:u’b’-r,‘f-*"gd:w;!u’_ﬂi_jru’u I3
4 3 2 ] How many common tangents can be JJ

drawn for two touching circles :

274-019-11-(Objective Type)- 19000 (7192)
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(PART -1 Ji.2 )
12 2. Write short answers to any SIX (6) questions : : 4 etz A2 L =iy [6){:.43[ bt

(1) Define reciprocal equation. Ly ,;J;-I:L-»J:" (1)
(i1) Solve by factorization : 5x° =15x ZE S F 2 G
(ii1) Find discriminant of the quadratic equation : é (:L*'w'f Of6etslsBuss (D)

4x2-7x-2=0
(iv) Evaluate : (9 + 4o + 40*) : 2‘3‘(;"".:.«5 (iv)
(V) Write the quadratic equation having roots 4 , 9. .U 4.9 uj S e adilrFss (V)

..ir""',; x+15 px)=x* —x? +15 (}:/LJ}LHU"KJ (vi)
(vi) Using synthetic division, divide p(x}nx ~x2 %15 by x+1
e xiye K{}Hx 5y)=2x-7y J1 (vii)

(vii) If 3(4x-5y)=2x-7y , find the ratio x:y ’f;)
(viii) Find the fourth proportional to : 8,7 06(‘\?“\ x éf:”'.,—fi:—"ﬁ.ﬁ (viii)
(ix) Define joint variation. LG _) o ;J,.:'."J;-‘/ (ix)
12 3. Write short answers to any SIX (6) quﬁtﬁ’ . o AR AL iy (6){.-_13:( 3
(1) Define fraction. G\\« ‘-‘q..Jrz.L;(/ ()
(i) Define De-Morgan’s la“s i'ul.-;_}'.!fﬁurl.di (i1)

\:‘V““éf#u B) 3 B={1,4,7,10} » A4={1,3,5,7,9} /1 (iii

(i) If 4={1,3,5,7,9} and B={1,4,7.10} then find (4=8)
Zd Bxdus AxB IB={c,d} » A={a,b} /1 (V)

(iv) If A={a,b} and B={c,d} thenfind AxB and Bx A
e B g 8 R=L(1610,02,3),03,4),(4,3),(5,4)} & (V)

(v) Find domain and the range of R={ (1,1),(2.3),(3.4),(4,3).(5.4)}
(vi) Define arithmetic mean and give an example. R - A g bsidl> (vi)
110, 109, 84, 89, 77, 104, 74. 97, 49, 59, 103, 62 25t =Sl u® e (vii)
(vii) Find range for the weights of students : 110, 109, 84, 89, 77, 104, 74, 97, 49, 59, 103, 62
et sbad Lun 82,93,86,92,79 éd‘bﬁLH‘Jh&ﬂ;—fﬁuf}é&Lu‘p (viiD)

(viiil) On 5 terms test in mathematics a student has made marks of 82, 93, 86, 92 and 79. Find
the median for the marks.
(ix) For the following data, find the harmonic mean : iir:j""b-:l..;l( AL.-VJ souks (1X)

| x| 12 [ 5/8(4

12 4. Write short answers to any SIX (6) questions : éc&lﬂ AL sy (6){:.(3[ 4
..ﬁ:....éf,;d;sl.? (1)
e sl 14’5 (i)

(1) Define an angle.

(i) Convert BTH to degrees.



4. (iii) Define projection. -ép-..g{,;'JJs (111)-4

4

4

(1v)  Define circle. ...é....:q Fdsn ()
(v) Define secant. S sl (v)
(vi) Define circumference of a circle. Sl ly (Vi)
(vii) Define sector of a circle. -2;...@ ;J /;_G Lt (vii)
(viii) Define radius of a circle. o Sl (iid
(ix) Define circum circle. -E_g...é! /‘7 $osin ¢ (ix)

(PART -1I #5.2)

Note : Attempt THREE questions in all. <619 AIrf ezl S o
But question No.9 is Compulsory.

5. (a) Solve the equation by completing square : : 2= F :.Ci/ut;- Jebls (3) 5
7x? +2x ~1=0
-c.d/«)’ k2x?+ 2(k+1)x+4 J.frm;rf_é.;iu/Jk ()
(b) For what value of , the expression k~x? +2(k+l).r+4 is perfect square.
enl )13/ - kf.w(abcz{ﬁ\()) a b=c:d/S1 ()) 6

&f“\ - JEEE oin

\/L\j b b "‘|"d2
Nl a’+c?
6. (@ Ifa:b=c:d (a, b:: d@?ﬁ?usmgk-method show that 3_ ]
~)
(b) Resolve into partm ; 2 :.:f.-fukl”u:/d,:z o)

RGN (x-1)(x+2)>

a\\/

B={23,4,58} #A={1,3,579} U={1,23,4 10} 1 (3) 7

(B-A) =B UASEE
7. (@) If U={1,2,3,4,----,10) ,A=1{1 .3,5,7,9}andB={2,3,4,5,8}
then provethat (B-A4) =B"UA
(b) Find standard deviation ‘S’ : D E S Ui ()
9 3,8,8,98,9,18

8. (a) Prove that : l+sm6-—l_sm€=4mnﬁ?sec9 gt (D) 8

[—-sin@ 1+siné@

ISP LI B R L B P ()
(b) Two equal circles are at 8 cm apart. Draw two direct common tangents
of this pair of circles.
-.gELHJ‘L?‘fLUK.UE’UaL»c.Jf/?}‘u:Ld..;IJféuh" 9
9. Prove that two chords of a c1rcle which are equidistant from the centre are congruent.
OR

Prove that the opposite e nf Fix z_:u.l-ﬁ-».ﬁ.-f gdubJ.:_.ﬂ;Jf Sz a’;"....wr
angles of any quadrilateral inscribed in a circle are supplementary.
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